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Question Number : 1 Question Id : 71087011577 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which level of teaching, the learner gets an opportunity to discriminate at length between
positive and negative exemplars of concepts?

1. Memory level

2. Understanding level

3. Reflective level

4. Autonomous development level
Options :

71087046081. 1

71087046082. 2

71087046083. 3

71087046084. 4

Question Number : 1 Question Id : 71087011577 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087046081. 1
71087046082. 2
71087046083. 3
71087046084, 4

Question Number : 2 Question Id : 71087011578 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
During teaching, a teacher's statements that encourage students to elaborate on an answer,
either their own or that of others will be called,

1. Structuring

2. Instructional variety

3. Engagement in the learning process
4. Probing

Options :

71087046085. 1

71087046086. 2

71087046087. 3

71087046088. 4

Question Number : 2 Question Id : 71087011578 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087046085 1
71087046086. 2
71087046087. 3
71087046088. 4

Question Number : 3 Question Id : 71087011579 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following will be called behavioural rather than “attitude and beliefs" related
competencies for becoming an effective teacher?

A. Locus of control

B. Communicating

C. Managing and monitoring

D. Teacher enthusiasm

E. Evaluating and providing feedback

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. B, Cand E only
4.C, D and E only
Options :
71087046089. 1
71087046090. 2
71087046091. 3
71087046092. 4

Question Number : 3 Question Id : 71087011579 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087046089. 1
71087046090. 2
71087046091 3
71087046092. 4

Question Number : 4 Question Id : 71087011580 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the following list of methods of teaching used in institutions of higher learning, identify

those which are learner-centred

A. Project work

B. Chalk and talk

C. Lecturing with audio-visual

D. Computer-aided instruction

E. Simulation and role-playing

Choose the correct answer from the options given below:

1. B, C and D only
2. D and E only

3. A, Band Conly
4.C, D and E only
Options :
71087046093. 1
71087046094. 2
71087046095. 3
71087046096. 4

Question Number : 4 Question Id : 71087011580 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I FRigror Teyrafl # Wt H ol SHarel st faftl &f FafaRad gt 5 9 34 faftat o
UgdH Y oIl Gl di-d aidl & :

A. URareT &l
B. TP US Cld'

C. 2] - 40 HIEH ® 1Y AR ST

D. R Bl eradl U fRrafm

. HTEU 3R YfHd fafs
i< fgu 71U fodcal 7 © 91 STk &1 98 P ;

1. ®dd B, C 3R D
2. HaAD IR E

3. @A A, B AR C
4.HaAC, D ARE
Options :
71087046093 1
71087046094. 2
71087046095. 3
71087046096 4

Question Number : 5 Question Id : 71087011581 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

, : l. Percentile rank and standard scores are used
A. Formative Evaluation .
for reporting

B. Summative Evaluation |l. Standards indicative of mastery

C. Criterion-referenced test lll. The intention of using it is to identify scope
and potential for improvement

D. Norm-referenced test IV. Its intention is to judge learning standards

Choose the correct answer from the options given below:

TA-NLB-IV,C-1I,D-1
ZA-1L,B-1L,C-11,D-1IV
3A-ILB-1L,C-1V,D-1I
4 A-IV,B-1I, C-1,D-1
Options :

71087046097. 1
71087046098. 2
71087046099. 3
71087046100. 4

Question Number : 5 Question Id : 71087011581 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. A-lll, B-1V, C-1I, D-I
2. A-l, B-II, C-1II, D-1V
3. A-ll, B-I, C-IV, D-1I
4. A-IV, B-lI, C-1, D-II
Options :
71087046097. 1
71087046098. 2
71087046099. 3
71087046100. 4

Question Number : 6 Question Id : 71087011582 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In using the hypothetico-deductive research paradigm which of the following sequences is
considered appropriate?

1. Hypothesis making, Hypothesis testing, Arriving at generalization and Conclusion

2. Establishing a research problem, Hypothesis making, Hypothesis testing, Arriving at
generalization and Conclusion

3. Hypothesis making, Establishing a research problem, Hypothesis testing, Arriving at
generalization and Conclusion

4. Hypothesis testing, Hypothesis making, Finalizing the research problem, Arriving at
generalization and Conclusion

Options :

71087046101. 1
71087046102. 2
71087046103. 3
71087046104. 4

Question Number : 6 Question Id : 71087011582 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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71087046101. 1

71087046102. 2




71087046103. 3
71087046104. 4

Question Number : 7 Question Id : 71087011583 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following research procedures will figure under post positivistic approach?

1. Normative survey
2. Experimental study
3. Ethnographic study
4. Ex post facto study
Options :
71087046105. 1
71087046106. 2
71087046107 3
71087046108. 4

Question Number : 7 Question Id : 71087011583 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087046105 1
71087046106. 2
71087046107. 3
71087046108. 4



Question Number : 8 Question Id : 71087011584 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A college teacher plans a research programme in which he/she intends to improve the socio-
emotional aspect of his/her classroom climate during teaching. Which one of the following
research methods will be considered appropriate in this context?

1. Experimental method

2. Descriptive method

3. Historical method

4. Action research method
Options :

71087046109. 1
71087046110. 2
71087046111. 3
71087046112. 4

Question Number : 8 Question Id : 71087011584 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087046109. 1
71087046110. 2



71087046111. 3
71087046112. 4

Question Number : 9 Question Id : 71087011585 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following steps in research are least vulnerable to research ethics?
A Identifying the research variables

B. Defining the research variables

C. Data collection procedure

D. Data analysis procedure

E. Reporting research outcomes

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. D and E only
Options :
71087046113. 1
71087046114. 2
71087046115. 3
71087046116. 4

Question Number : 9 Question Id : 71087011585 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087046113, 1
71087046114. 2
71087046115. 3
71087046116. 4

Question Number : 10 Question Id : 71087011586 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The personalistic styles of writing a research report are permissible in which of the following
research?

A. Grounded theory research

B. Experimental research

C. Participant-observation based research

D. Historical research

E. Case study research

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Cand E only
Options :
71087046117. 1
71087046118. 2
71087046119. 3
71087046120. 4

Question Number : 10 Question Id : 71087011586 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bad A, B 3R C
2. Pad B, C 3R D
3. AU C, D 3R E
4, BT A, C 3R E
Options :
71087046117, 1
71087046118. 2
71087046119. 3
71087046120 4

Sub-Section Number : 2
Sub-Section Id : 710870350
Question Shuffling Allowed : Yes

Question Id : 71087011587 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension



Read the passage carefully and answer the questions that follow

More generally, today's business-to-business marketers are using a wide range of digital and
social marketing approaches from websites, blogs, and smartphone apps to mainstream social
networks such as Facebook, Linkedln, Youtube, and Twitter to reach business customers and
manage customer relationships anywhere, anytime. Digital and social marketing has rapidly
become the new space for engaging business customers. Business-to-business e-procurement
yields many benefits. First, it shaves transaction costs and results in more efficient purchasing
for both buyers and suppliers. E-procurement reduces the time between order and delivery.
And a Web-powered purchasing program eliminates the paperwork associated with traditional
requisition and ordering procedures and helps an organization keep better track of all
purchases. Finally, beyond the cost and time savings, e-procurement frees purchasing people
from a lot of drudgery and paperwork. In turn, it frees them to focus on more strategic issues,
such as finding better supply sources and working with suppliers to reduce costs and develop
new products.

The rapidly expanding use of e-procurement, however, also presents some problems. For
example, at the same time that the Internet makes it possible for suppliers and customers to
share business data and even collaborate on product design, it can also erode decades-old
customer-supplier relationships. Many buyers now use the power of the Internet to pit
suppliers against one another and search out better deals, products, and turnaround times on
a purchase-by-purchase basis.

E-procurement can also create potential security concerns. Although home shopping
transactions can be protected through basic encryption, the secure environment that
businesses need to carry out confidential interactions is sometimes still lacking.

Sub questions

Question Number : 11 Question Id : 71087011588 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

What is the current strategy of business to business managers?

1. Searching for new business space

2. Exploring new customer relations

3. Less dependence on social marketing
4. More and more use of digital business
Options :

71087046121. 1

71087046122. 2

71087046123. 3

71087046124. 4

Question Number : 12 Question Id : 71087011589 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The benefits of e-procurement are

A. Cost reduction

B. Quick delivery

C. Longer time for strategic procurement

D. Empathetic purchase

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087046125. 1



71087046126. 2
71087046127. 3
71087046128. 4

Question Number : 13 Question Id : 71087011590 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What can be a strategic issue as a result of less paperwork?

1. Transaction analysis

2. More investment for supply

3. Development of new products

4. Importance to traditional customer relation
Options :

71087046129. 1

71087046130. 2

71087046131. 3

71087046132. 4

Question Number : 14 Question Id : 71087011591 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What can be the main issue with e-procurement vis-a-vis power of Internet?

1. Different purchases for both buyers and suppliers
2. Sharing business data with customers

3. Competitive supply of products

4. Better purchase deals

Options :

71087046133. 1

71087046134. 2

71087046135. 3

71087046136. 4



Question Number : 15 Question Id : 71087011592 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The focus of the passage is on

1. The power of suppliers

2. Basic business data encryption

3. The supply side of business

4. The critical features of e-procurement
Options :

71087046137. 1

71087046138. 2

71087046139. 3

71087046140. 4

Question Id : 71087011587 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension



Rt maTe s g AR udi FIW e

adaH T UETHd bR difired T difired $1 Uid 18- drd [quuHadl fadt off s, fosd off
g EYgIde IuYEe 9@ Ugd §4H 3R IuHiadl Gadf &1 Weitd &3 & ydieH
dedSe, I AR WEBHE U9 U dax TURT & JI9d Head| 941 bags, [Aeied, g 2gd 3R
fgex S U feefled 3R U= f[GuuE IUrTHl &1 Ugi & 36 ol feuliea iR =i faquH
YIS JUHIEH S 2T 3 &g 9gd ol oo YKR 4 T 41 59 941 €1 alforsg 9
qNURSg $-UIU0l & 3 1Y 81 UYHT:, S9Y TG 1 OFd BH Bldl & 3R 39®! GiRulfd sl
IR Mgfded EHf @ AU UaTPHd S U GG § 8l &1 3-UT00 § TS U1 8 3R
quaht & &9 @1 999 gedl & aUl 46 MR Tl SRHH ¥ URUNG A1 -TF 3R 18T
uissarel ¥ 21 SN B GHIE eidl & aul 399 &g 916 &1 30-] O WiE! &1 g
oRaTSEl T | Ul el g1 2ldd: TR Ud 9HY &1 add & 3feldl, 3-HI90] shdlHl & $o
Uiy 3R ST BRAE 4 Jad B3l 3| Bad: T8 3¢ U&THd del H1He Hew@qul gel guT:
dEaR AYfd Tdd B Udl TH a1 TR 92 3R AU IdTE [Ah 10 B g Hdddis & a
HH B & (ST IS UGH Bl &1 Baiiid deil ¥ Sed 3-H40 U e U= off 9 o1
g1 Jareond, U 3R el Setic anyfdadiaft 2R Jusiadadt & U 18 saagm d&4 sies
I &3 3R T8] a& & IdIE & 3oz & YganT &I Y4d §1d1 & g8 Gl 3R I8 Gua!
R JUHIET - ATGfddhdl el 7 &R01 Hf Il 81 3 shdl 6 S @ didbd &l WGF Tiie
- T - WRIE YR R AEaisl I A - Y- @ AR 38R Uial, 3d1a] 18 g & @
arel U] g0y B BHEH B3 & [l HId 8

S-UUU) § R&m Gadt g€t fHane o 3wl 81 g9 e %Y - Gy & gFK wiewE &
A1y O YRIE (631 o bl €, U] o4y & oY forg g @1 -1 dicdid Bl oiexd gidl
g, ITH TGl &1 -1 38 g MUTad RIE ardERu &1 o Hi S g

Sub questions

Question Number : 11 Question Id : 71087011588 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087046121. 1

71087046122. 2

71087046123, 3

71087046124 4

Question Number : 12 Question Id : 71087011589 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. ®dd C 3R D
4. HadA AR D
Options :
71087046125. 1
71087046126. 2




71087046127. 3
71087046128. 4

Question Number : 13 Question Id : 71087011590 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087046129. 1

71087046130. 2

71087046131. 3

71087046132. 4

Question Number : 14 Question Id : 71087011591 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087046133. 1

71087046134. 2

71087046135, 3

71087046136 4




Question Number : 15 Question Id : 71087011592 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087046137. 1

71087046138. 2

71087046139. 3

71087046140. 4

Sub-Section Number : 3
Sub-Section Id : 710870351
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 71087011593 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In communication process, when the sender and the receiver interchange their roles in respect
of sending and receiving the message, it is called

1. Universal model

2. Transactional model
3. Singular-flow model
4, Pluralistic model
Options :

71087046141. 1
71087046142. 2
71087046143. 3



71087046144. 4

Question Number : 16 Question Id : 71087011593 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087046141. 1
71087046142. 2
71087046143, 3
71087046144, 4

Question Number : 17 Question Id : 71087011594 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A teacher who encourages students’ participation in communication will ensure
A. Opposite views

B. Self-esteem

C. Class performance

D. Professional development

E. Binary distractions

Choose the correct answer from the options given below:

1. A, B and C only
2. A, CandE only
3.B,Cand D only
4. A, Dand E only
Options :
71087046145. 1
71087046146. 2
71087046147. 3
71087046148. 4

Question Number : 17 Question Id : 71087011594 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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ol faded &1 994 B ;

1. HAAA, B 3R C
2. HAAA, CHRE
3. ®aAB, C3RD
4. HAAA, D ARE
Options :
71087046145, 1
71087046146. 2
71087046147. 3
71087046148. 4

Question Number : 18 Question Id : 71087011595 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: In group discussions, some participants enter the fray with big chips on their
shoulders

Reason R: These are antagonistic people who are calm and listed

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087046149. 1

71087046150. 2

71087046151. 3

71087046152. 4

Question Number : 18 Question Id : 71087011595 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I & Py U TE B - U 1 3ifHiape (A) 3R G @1 b (R) P61 I ;
HYDHYA (A) : FHE Td1 H $S UgHFN I3 - gt dld dRd & |

dd (R) : T it @0 81d & =il 2Mid SR ufaarg! 8id &

SUYdd Bl B el H Fgiied [deedl H U Halfte Juged S 94 -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI Tl SREAT 6l 3|
3. (A) 9BI 8 U (R) el &l B

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087046149. 1

71087046150. 2

71087046151. 3

71087046152. 4

Question Number : 19 Question Id : 71087011596 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Communication Barrier Description

A, Physical |. Different understanding
B. Psychological Il. Stereotypes

C. Language lll. Pre-disposed notions
D. Cultural IV. Inaudible voice

Choose the correct answer from the options given below:

TA-IV,E-N,C-1,D-I
2ZA-ILB-IL,C-1V,D-1
SA-ILB-1L,C-NILD-1V
4A-LB-ILC-1ILD-1V
Options :

71087046153. 1
71087046154. 2
71087046155. 3
71087046156. 4

Question Number : 19 Question Id : 71087011596 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gali-1 Dl Fali-11 & oy GAferd o :

gal-| ql-1i

GO ST ICERI

A. RIS REGUEEE]

B. HHIGTI® 1. Tfcag YR
C. HTST Gadi 11. Id Wgd 4RO
D. HiEhidd V. 3T HTdTS
I feu U fashedl © O gel 3R &1 98- & -

1. A-1V, B-1ll, C-1, D-I
2. AL B-1I, C-1V, D-I
3. A-ll, B-1, C-lII, D-1V
4. A-l, B-lI, C-lI, D-1V
Options :
71087046153. 1
71087046154. 2
71087046155. 3
71087046156. 4

Question Number : 20 Question Id : 71087011597 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



When communication for educational purpose takes place, the sequence of elements is
A. Source

B. Encoder

C. Message

D. Decoder

E. Feedback

Choose the correct answer from the options given below

1.A B CD,E
2B CDEA
3.CD,EAB
4.D,E B A C
Options :

71087046157. 1
71087046158. 2
71087046159. 3
71087046160. 4

Question Number : 20 Question Id : 71087011597 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e Q&MU TS g WHINYI BIdT § ol U<l Bl HHBIAI 8 :
A, Fid

B. B¢ qifad

C. T

D. fadis®

£ Bigad®

i f&u U faeedl # @ Uel I &1 98- B -

1.A,B,C,D3RE
2.B,C D, E3RA
3.C, D, E A3JRB
4.D,E B, A3RC
Options :
71087046157. 1
71087046158. 2
71087046159. 3
71087046160. 4

Question Number : 21 Question Id : 71087011598 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A man walks at a speed of 3 km/hour from location A towards east for 1 hour and then turning
left walks at a speed of 1.5 km/hour for 6 hours towards north to a location B. The shortest
distance between locations A and B is

1. 10 km

2. 12 km

3. ~8.54 km
4, ~9.48 km
Options :
71087046161. 1
71087046162. 2
71087046163. 3
71087046164. 4

Question Number : 21 Question Id : 71087011598 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ueh oHfekd I A 9 3 T 9e1 71fd O qRa = # 1 9¢ qob doidl & 99l 39 d1g a1 S 1.5
b 51,/ g1 &1 71 Y IR G2 DI 3R 6 e T ™M B b daidl &1 ®H A 3R B & did i
FaH g & -

1. 10 T Al

2. 12 fp .
3.~ 854 fhdl
4. ~ 9.48 fp oI,
Options :
71087046161. 1
71087046162. 2
71087046163. 3
71087046164. 4

Question Number : 22 Question Id : 71087011599 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The volume of a cube of side 10.0 cm is changed by increasing its sides by 1.0%. The
percentage increase in the volume of the cube is

1. ~1%
2. ~6%
3.~3%
4. ~ 10 %
Options :

71087046165. 1
71087046166. 2
71087046167. 3
71087046168. 4

Question Number : 22 Question Id : 71087011599 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

10.0 AT BT YT dIci U U B G ST Y3 bl 1.0 % ToIdhR dad ol oldl o | 39 9

© gd- | ula=d 3fs g -
1. ~1%
2.~ 6%
3.~3%
4. ~10%
Options :

71087046165. 1
71087046166. 2
71087046167. 3
71087046168. 4



Question Number : 23 Question Id : 71087011600 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Consider the following number series 2, 10, 30, 68, X

What is the term X7

1. 130

2. .92

3.88

4.76

Options :
71087046169. 1
71087046170. 2
71087046171. 3
71087046172. 4

Question Number : 23 Question Id : 71087011600 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ofafag den o1 ) fGaR &
210, 30, 68, X
X @1 HH TR 2

1. 130

2.92

3.88

4.76

Options :
71087046169. 1
71087046170. 2



71087046171. 3
71087046172. 4

Question Number : 24 Question Id : 71087011601 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A household Incurs a certain expenditure on the consumption of a commodity in a given
month. If the price of the commodity is decreased by 20% and its consumption is increased by
20%, what will be the net percent increase or decrease in the expenditure of the household?

1. 2%

2. 4%

3. 8%

4. 10%
Options :
71087046173. 1
71087046174. 2
71087046175. 3
71087046176. 4

Question Number : 24 Question Id : 71087011601 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U3 URAR Us A8 99N H U% a%g & SUaRT IR &idud o0 &l | 3fc 39 a%g @1 H1Ad 20%
T WAl & AR d%] ®I UGN 20% d¢ Idl & df 39 URaR & &g ¥ fova- ufa=id &1 sglall
Gl HH| 8T 7

1. 2%

2. 4%

3. 8%

4. 10%
Options :



71087046173. 1
71087046174. 2
71087046175. 3
71087046176. 4

Question Number : 25 Question Id : 71087011602 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider the following letter series. What is next of acf, egj, ikn, ogt,

1. suy

2. uvy

3. rwz

4 uwz
Options :
71087046177. 1
71087046178. 2
71087046179. 3
71087046180. 4

Question Number : 25 Question Id : 71087011602 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fafaRad quf #49 R 3gR SIS ATy @ g 2

acf, eqi, ikn, oqt, ___

1. suy

2. uvy

3. rwz

4 uwz
Options :
71087046177. 1



71087046178. 2
71087046179. 3
71087046180. 4

Question Number : 26 Question Id : 71087011603 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two propositions:

All philosophers are fallible

Socrates is not fallible

In the classical square of opposition, which one of the following is the correct answer?

1. Contrary

2. Contradictory
3. Subalteration
4. Subcontrary
Options :
71087046181. 1
71087046182. 2
71087046183. 3
71087046184. 4

Question Number : 26 Question Id : 71087011603 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e &l a arg fau MU B -

ot erife waRia B & |

YT YA Tl g |

foTy & Fenfa®! avt § Fufafed 3 3 oH-91 98 W B

1. e

2. faemyTt
3. 3UIfsd

4. 3u-fazreh
Options :
71087046181. 1
71087046182. 2
71087046183. 3
71087046184. 4

Question Number : 27 Question Id : 71087011604 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below is a proposition:
‘Mahatma Gandhi is called father of Nation'.
What kind of classical categorical proposition is it?

1. Universal affirmative
2. Particular affirmative
3.Both 1 and 2

4. Neither 1 nor 2
Options :

71087046185. 1



71087046186. 2
71087046187. 3
71087046188. 4

Question Number : 27 Question Id : 71087011604 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Il U ddare fea T g ;

 HETH i B AP el S B

7% Fofated & § oy IR &1 aenfas! FRUg ahare § 2

1. gray iy fGerd®

2. fafey faurars

3.1 3R 2 gH

4.1 3R 2 A Ple o T8
Options :

71087046185. 1
71087046186. 2
71087046187. 3
71087046188. 4

Question Number : 28 Question Id : 71087011605 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following pramanas are accepted by Vaisheshika philosophy?
A. Pratyasha

B. Anumana

C. Sabda

D. Upamana

E. Arthapatti

F. Anupalabdhi

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3.Eand F only
4. Cand E only
Options :
71087046189. 1
71087046190. 2
71087046191. 3
71087046192. 4

Question Number : 28 Question Id : 71087011605 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFafeiad # 94 ®H-9 uA 9t o2F H WioR U e § 2

FafaRad & 9 98! SO &1 994 i :

1. &dd A 3R B
2. ®ad C R D
3. Bad E 3R F
4, HadC3RE
Options :
71087046189. 1
71087046190. 2
71087046191. 3
71087046192. 4

Question Number : 29 Question Id : 71087011606 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are accepted in Buddhism?

A. Adhyasa

B. Apoha

C. Abhava

D. Arthapatti

E. Pratyaksha

F. Sabda

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3.B and E only
4. E and F only
Options :
71087046193. 1
71087046194. 2
71087046195. 3
71087046196. 4

Question Number : 29 Question Id : 71087011606 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



dig 4 | FafaRed # 9 fo-1ol WieR fearwidaig 2

AL SETH

3. 3{UIE

C. 3{H1d

D. YUk

E. Ue

F. TMoG

FafeRad fasmedl # ¥ UE1 3Tk B I8 DI :

1. Had A 3R B
2. ®ad C 3R D
3. ®HaaB AR E
4 HAAE AR F
Options :
71087046193. 1
71087046194. 2
71087046195. 3
71087046196 4

Question Number : 30 Question Id : 71087011607 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the nature of a logical argument? Choose the correct answer from the following:

1. Justified or unjustified

2. True or false

3. Valid or invalid

4, Verifiable or not verifiable

Options :

71087046197. 1
71087046198. 2
71087046199. 3
71087046200. 4

Question Number : 30 Question Id : 71087011607 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

dbETTd gida @1 UG &1 gldl ¢ 7 MaikiRgd & 9 981 3wk &1 984 Dy ;

1. "Oid 3R TR - AEid
2. TR g1 TTed

3. 39 41 33y

4, YUY 3HYdl G-
Options :

71087046197. 1
71087046198 2
71087046199. 3
71087046200. 4

Sub-Section Number : 4
Sub-Section Id : 710870352
Question Shuffling Allowed : Yes

Question Id : 71087011608 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No
Question Numbers : (31 to 35)
Question Label : Comprehension

Answer the question based on the data contained in the table

The following table embodies the data on vegetable produced year wise in tonne for a
particular district.

Year\Vegetable Potato Tomato Onion
2074 200 50 300
2015 500 70 200
2016 300 40 100
2017 100 80 400
2018 700 70 500
2019 800 a0 600

Sub questions

Question Number : 31 Question Id : 71087011609 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which year(s) the production of potato is less than that of average production?
A 2016

B. 2014

C. 2015

D. 2017

Choose the correct answer from the options given below

1. A and B only

2. A, B and D only
3. C only

4. Cand D only

Options :

71087046201. 1
71087046202. 2
71087046203. 3
71087046204. 4

Question Number : 32 Question Id : 71087011610 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which year(s) is the production of tomato the least?

1. 2014
2.2017
3. 2019
4. 2016
Options :



71087046205. 1
71087046206. 2
71087046207 3
71087046208. 4

Question Number : 33 Question Id : 71087011611 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the gross production of vegetables in the year 20187

1. 1270

2. 1275

3. 1260

4. 1280
Options :
71087046209. 1
71087046210. 2
71087046211. 3
71087046212. 4

Question Number : 34 Question Id : 71087011612 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the increase (in percentage) of the total production of vegetable from the year 2018 to
20197

1. 15.7%
2. 16.1%
3. 19.4%
4, 17.2%
Options :
71087046213. 1
71087046214. 2



71087046215. 3
71087046216. 4

Question Number : 35 Question Id : 71087011613 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which year the productivity of vegetable is maximum?

1. 2018

2. 2016

3. 2019

4. 2017
Options :
71087046217. 1
71087046218. 2
71087046219. 3
71087046220. 4

Question Id : 71087011608 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension



frrafafaa aiftre # fFt e fade & sanfea aferat 1t am @ &) S&<dt adfar siwer
fora mar &1 TfereT & U 7T o & SyYR WX uyi 3 Iy it

ay / el T AR B
2014 200 50 300
2015 500 70 200
2016 300 40 100
2017 100 80 400
2018 700 70 500
2019 200 20 &00

Sub questions

Question Number : 31 Question Id : 71087011609 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



forg qu / o1 aul H 1] BT IUTGA IHD G IdIe 8 BH a1 2
A, 2016
B. 2014
C. 2015

D. 2017
e fwea T

1. Had A 3R B
2. AU A, B, D
3. ®adC

4. Had C AR D
Options :
71087046201. 1
71087046202. 2
71087046203. 3
71087046204. 4

Question Number : 32 Question Id : 71087011610 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fg g THIEY & JdIe 998 BH 8 ?

1. 2014
22017
3.2019

4. 2016
Options :
71087046205. 1
71087046206. 2



71087046207. 3
71087046208. 4

Question Number : 33 Question Id : 71087011611 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a4 2018 H Gieadl BT bd G [l g ?

1. 1270

2. 1275

3. 1260

4. 1280
Options :
71087046209. 1
71087046210. 2
71087046211. 3
71087046212. 4

Question Number : 34 Question Id : 71087011612 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a9 2018 DI UM TY 2019 H Gleardl & Hal SdIGH H fbd- Widd 1 3fS g 2

1. 15.7 %
2.16.1 %
3.194 %
4.17.2 %
Options :
71087046213. 1
71087046214. 2
71087046215. 3
71087046216. 4



Question Number : 35 Question Id : 71087011613 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frd ad & Heofl BT JAIGH I Halldd ¢ 2

1. 2018

2. 2016
3.2019

4. 2017
Options :
71087046217. 1
71087046218. 2
71087046219. 3
71087046220. 4

Sub-Section Number : 5
Sub-Section Id : 710870353
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 71087011614 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the full form of the abbreviation CD.ROM?

1. Count Disk Random Only Memory
2. Compact Disk Run Only Memory
3. Compact Disk Read Only Memory
4. Count Disk Raw Only Memory
Options :

71087046221. 1

71087046222. 2

71087046223. 3

71087046224. 4



Question Number : 36 Question Id : 71087011614 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T&U1ER CD-ROM ST R AH F1 5 ?

1. Count Disk Random Only Memory
2. Compact Disk Run Only Memory
3. Compact Disk Read Only Memory
4. Count Disk Raw Only Memory
Options :

71087046221. 1

71087046222. 2

71087046223. 3

71087046224. 4

Question Number : 37 Question Id : 71087011615 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Multimedia comprises of

1. Text and Audio

2. Video and Audio

3. Video only

4, Text, Audio and Video
Options :

71087046225. 1
71087046226. 2
71087046227. 3
71087046228. 4

Question Number : 37 Question Id : 71087011615 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
A HIST H Ueh & -

1. SR 3R il

2. difegar 3R Aitsal

3. ®ad difsdl

4, de, Hifsal AR difsal
Options :

71087046225. 1
71087046226. 2
71087046227. 3
71087046228. 4

Question Number : 38 Question Id : 71087011616 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Information and Communication Technology (ICT) comprises of
A. Online learning

B. Learning through Mobile Application

C. Web based learning

D. All the above

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. D only
4. A only
Options :



71087046229. 1
71087046230. 2
71087046231. 3
71087046232. 4

Question Number : 38 Question Id : 71087011616 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

G SR UaR et (og df &) H /ibe g -

A 3Hars A
5. AR HTHRH & J1ed U ey
C. aF YT R

D. Iudad it
el f[ddhed &1 999 Bl -

1. &dd A 3R B
2. Bad A 3R C
3. ®ad D

4, Had A
Options :
71087046229. 1
71087046230. 2
71087046231. 3
71087046232. 4

Question Number : 39 Question Id : 71087011617 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: E-commerce companies require personal data to serve the stakeholders better
Reason R: In this process, privacy may get compromised

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087046233. 1

71087046234. 2

71087046235. 3

71087046236. 4

Question Number : 39 Question Id : 71087011617 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087046233. 1

71087046234. 2

71087046235. 3

71087046236. 4

Question Number : 40 Question Id : 71087011618 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Python is a/an

A. Programming language

B. Operating system

C. Search engine

D. Snake

Choose the correct answer from the options given below:

1. B only

2. A only

3.B and C only
4. Cand D only
Options :
71087046237. 1
71087046238. 2
71087046239. 3
71087046240. 4

Question Number : 40 Question Id : 71087011618 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



‘Python’ T __ B
A. TR citder

B. ORI FoeA
C. 99 391

D. @®

el [ddcd &1 994 S -

1. 5 B
2. Had A
3. ®HaAAB AR C
4. %ad C AR D

Options :

71087046237. 1
71087046238. 2
71087046239. 3
71087046240. 4

Question Number : 41 Question Id : 71087011619 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of continents in decreasing order of their yearly carbon dioxide
emissions, at present

A. Africa

B. Asia

C. Europe

D. North America

Choose the correct answer from the options given below

1.B,D A C
2B D CA
3.D,B,C A
4.D,C B A
Options :
71087046241.
71087046242.
71087046243.
71087046244.

AW O~

Question Number : 41 Question Id : 71087011619 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.B,D A C
2B D CA
3.D,B,C A
4.D,C B A
Options :

71087046241.
71087046242.
71087046243.
71087046244.

AW O~

Question Number : 42 Question Id : 71087011620 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Millennium Development Goals of Global Partnership for Development envisaged making
available the benefits of new technologies - especially which of the following?

1. Information and Communication
2. Artificial Intelligence

3. Nuclear technology

4. Solid waste treatment technology
Options :

71087046245. 1

71087046246. 2

71087046247. 3

71087046248. 4

Question Number : 42 Question Id : 71087011620 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. g1 3R TR

2. DIFAH U

3. AP WA
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Options :

71087046245. 1
71087046246. 2
71087046247. 3
71087046248. 4

Question Number : 43 Question Id : 71087011621 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The global emissions (by weight) of following primary pollutants from natural sources are
maximum in the case of

1. Nitric oxide

2. Carbon monoxide
3. Methane

4, Carbon dioxide
Options :
71087046249. 1
71087046250. 2
71087046251. 3
71087046252. 4

Question Number : 43 Question Id : 71087011621 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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87

1. ABCH SRS

2. e AFIFEES
3. HiUE

4, TE- SEHTES
Options :
71087046249. 1
71087046250. 2
71087046251. 3
71087046252. 4

Question Number : 44 Question Id : 71087011622 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List Il which contain water pollutants and their sources respectively

List | List 11

Water pollutants Sources

A. Oxygen demanding wastes |l. Mine drainage

Il. Modern washing powders and agriculture run-off
B. Plant nutrients

C. Acids lll. Waste incineration and toxic dumps

D. Polychlorinated
biphenyls(PCBs)

Choose the correct answer from the options given below:

IV. Paper mills and food processing units

TA-IV,E-U,C-1l,D-1
2ZA-IVB-LC-II,D-1
SA-IVB-ILC-1,D-1
4 A-IVB-IIILC-1,D-1
Options :

71087046253. 1
71087046254. 2
71087046255. 3
71087046256. 4

Question Number : 44 Question Id : 71087011622 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IV,B-1,C-1I,D-1
2ZA-IV,B-1,C-1I,D-1
3A-IV,B-1I,C-1,D-1I
4 A-IV,B-NIL,C-1,D-1
Options :

71087046253. 1
71087046254. 2
71087046255. 3
71087046256. 4

Question Number : 45 Question Id : 71087011623 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Despite increasing vulnerability to natural disasters many communities resist
adopting mitigation programmes and measures

Reason R: Mitigation is often perceived by communities as being incompatible with their
cultural practices

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087046257. 1

71087046258. 2

71087046259. 3

71087046260. 4

Question Number : 45 Question Id : 71087011623 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087046257. 1

71087046258. 2

71087046259. 3

71087046260. 4

Question Number : 46 Question Id : 71087011624 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The first open university in India was established in the year

1. 1980

2. 1982

3. 1985

4. 1986
Options :
71087046261. 1
71087046262. 2
71087046263. 3
71087046264. 4



Question Number : 46 Question Id : 71087011624 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1980

1982

1985

1986
Options :
71087046261. 1
71087046262. 2
71087046263. 3
71087046264. 4
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Question Number : 47 Question Id : 71087011625 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Asynchronous communication takes place through which of the following technologies?
A. Teleconferencing

B. Virtual classroom

C. Video chat

D. Blogs

E. Discussion boards

F. Vlog

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.D, Eand F only
4.C, D and E only
Options :
71087046265. 1
71087046266. 2
71087046267. 3
71087046268. 4

Question Number : 47 Question Id : 71087011625 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bad A, B 3R C
2. Pad B, C 3R D
3. PAAD, E 3R F
4. H3AC, DIARE
Options :
71087046265. 1
71087046266. 2
71087046267. 3
71087046268. 4

Question Number : 48 Question Id : 71087011626 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Stages of value development Exemplification of value formation

, . Choosing and imbibing the values one
A. Stage | - Value collection ,
cherishes

ll. Observing and imitating the adult
B. Stage Il - Value assessment . .
behaviours, particularly parents

C. Stage Il - Value clarification lIl. Predictability of human behaviour is assured
D. Stage IV - Value consclidation IV. Finding out gaps in values preached and
practice

Choose the correct answer from the options given below:

TA-ILBE-IWV, C-1I,D-I
2ZA-IVB-NIL,C-I,D-1
SA-ILB-1L,C-1V,D-1I
4 A-ILB-ILC-1,D-1IV
Options :

71087046269. 1
71087046270. 2
71087046271. 3
71087046272. 4

Question Number : 48 Question Id : 71087011626 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-IV,C-1I,D-1
2ZA-IV,B-NILC-1,D-1I
3A-ILB-1L,C-1V,D-1I
4 A-ILB-1I,C-1,D-1IV
Options :

71087046269. 1
71087046270. 2
71087046271. 3
71087046272. 4

Question Number : 49 Question Id : 71087011627 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements related to the Upanishadic tradition
Statement I: Paravidya means knowledge that transcends human experience
Statement Il: Aparavidya means knowledge based on the human experience

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

71087046273. 1

71087046274. 2

71087046275. 3

71087046276. 4

Question Number : 49 Question Id : 71087011627 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087046273. 1
71087046274. 2
71087046275. 3
71087046276. 4

Question Number : 50 Question Id : 71087011628 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following Entries of the Indian Constitution deals with coordination and
determination of standards in institutions for higher education or research or scientific and
technical institutions?

1. Entry 63

2. Entry 64

3. Entry €5

4, Entry 66
Options :
71087046277. 1
71087046278. 2
71087046279. 3
71087046280. 4

Question Number : 50 Question Id : 71087011628 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Uidf¥ 63

2. Uidiy 64

3. U4y 65

4. Uiy 66
Options :
71087046277. 1
71087046278. 2
71087046279. 3
71087046280. 4

PART II Comparative Study of Religions

Section Id : 710870264
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870354
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 71087011629 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is the essential element for religious harmony?

1. Faith in sacred texts

2. Understanding and respecting other religions
3. Faith in God

4. Studying other religions

Options :

71087046281. 1

71087046282. 2

71087046283. 3

71087046284. 4

Question Number : 51 Question Id : 71087011629 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
s GguTE &1 HaTH Td TE & -

1. ey § fayrg

2. {3 el &1 J7H R g
3. 3R T fayg

4. TOY 4] B LG
Options :

71087046281. 1
71087046282. 2
71087046283. 3
71087046284, 4

Question Number : 52 Question Id : 71087011630 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



As per Durkheim, totem is not

1. A symbol of God

2. Sacred

3. Profane

4. Elementary form of religion
Options :

71087046285. 1

71087046286. 2

71087046287. 3

71087046288. 4

Question Number : 52 Question Id : 71087011630 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087046285. 1
71087046286. 2
71087046287. 3
71087046288. 4

Question Number : 53 Question Id : 71087011631 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Pantheism helieves that

1. God is wholly other

2. God is transcedental

3. God is present in everything
4. God is Triune

Options :

71087046289. 1

71087046290. 2

71087046291. 3

71087046292. 4

Question Number : 53 Question Id : 71087011631 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087046289. 1
71087046290. 2
71087046291. 3
71087046292. 4

Question Number : 54 Question Id : 71087011632 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order
A. Mahavira

B. Muhammad

C. Shankaracharya

D. Jesus Christ

E. Guru Nanak Dev

Choose the correct answer from the options given below:

1.A CEDB
2ZAEBCD
3ABCED
4. A, D, B CE
Options :
71087046293. 1
71087046294. 2
71087046295. 3
71087046296. 4

Question Number : 54 Question Id : 71087011632 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.A,C ED,B

2.AEB,CD

3.A,B,CED

4.AD,B,CE

Options :

71087046293. 1

71087046294. 2

71087046295. 3
71087046296. 4

Question Number : 55 Question Id : 71087011633 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement |: Compassion is the central concept of Buddhism

Statement |I: Hinduism does not believe in rebirth

In light of the above statements, choose the correct answer from the option given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct Statement |l is false

4, Statement | is incorrect and Statement Il is true
Options :

71087046297. 1

71087046298. 2

71087046299. 3

71087046300. 4

Question Number : 55 Question Id : 71087011633 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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71087046297. 1
71087046298. 2
71087046299. 3
71087046300. 4

Question Number : 56 Question Id : 71087011634 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List | with List Il

List | List Il
A. The Golden Bough . Phillip K Hitti
B. The elementary form of Religious Life ll. Edward Said
C. Orientalism lIl. James George Frazer
D. History of The Arabs V. Emile Durkheim

Choose the correct answer from the options given below:

1. A-lll, B-1V, C-1l, D-I
2. A-l, B-Il, C-lII, D-1V
3. A-ll, B-1, C-1IV, D-llI
4. A-IV, B-lll, C-1, D-II
Options :
71087046301. 1
71087046302. 2
71087046303. 3
71087046304. 4

Question Number : 56 Question Id : 71087011634 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-NLB-1V, C-1I,D-1
ZA-1L,B-1L,C-11,D-1IV
3A-ILB-1L,C-1V,D-1I
4 A-IV,B-NIL,C-1,D-1
Options :

71087046301. 1
71087046302. 2
71087046303. 3
71087046304. 4

Question Number : 57 Question Id : 71087011635 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

This doctrine follows the Vedic culture

1. Anekantavada

2. Sufism

3. Communism

4. Purushartha Chatushtayam
Options :

71087046305. 1

71087046306. 2



71087046307. 3
71087046308. 4

Question Number : 57 Question Id : 71087011635 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. BTG
2. ghiHd

3. 99 dlq

4, q&ury Iqpd
Options :
71087046305. 1
71087046306. 2
71087046307. 3
71087046308. 4

Question Number : 58 Question Id : 71087011636 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is the oldest written document?

1. Tattvarthasatra
2. Rgveda

3. Dhammapada
4. Bible

Options :
71087046309. 1
71087046310. 2
71087046311. 3
71087046312. 4



Question Number : 58 Question Id

: 71087011636 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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1. Tl

2. G

3. UHUG

4. dlgdd
Options :
71087046309. 1
71087046310. 2
71087046311. 3
71087046312. 4

Question Number : 59 Question Id

: 71087011637 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The hymns of Vedas are arranged

1. Dohas

2. Kundalis

3. Chandas

4. Chaupai
Options :
71087046313. 1
71087046314. 2
71087046315. 3
71087046316. 4

Question Number : 59 Question Id

into

: 71087011637 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

JG P HIAV Y EYH AIRYT & -

1. Glel

2. pUsl
3.9G

4. dIurg
Options :
71087046313. 1
71087046314. 2
71087046315. 3
71087046316. 4

Question Number : 60 Question Id : 71087011638 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Shrimadbhagavata Purana is related to

1. Shaktamata
2. Vaisnavamata
3. Tantramata

4, Shaivamata
Options :
71087046317. 1
71087046318. 2
71087046319. 3
71087046320. 4

Question Number : 60 Question Id : 71087011638 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



g HTad QRIV 39 Galdd & -

1. TMdHT

2. dWEHd

3. dFAd

4, qaHd
Options :
71087046317. 1
71087046318. 2
71087046319. 3
71087046320. 4

Question Number : 61 Question Id : 71087011639 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The main doctrine of Mimansadarshana is

1. Karmamarga
2. Yogamarga
3. Bhaktimarga
4, Jhianamarga
Options :
71087046321. 1
71087046322. 2
71087046323. 3
71087046324. 4

Question Number : 61 Question Id : 71087011639 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i g2 & ugE RS -

1. HHAF]
2. TRTHR
3. Yfgaart

4. AT

Options :

71087046321. 1
71087046322. 2
71087046323. 3
71087046324. 4

Question Number : 62 Question Id : 71087011640 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: God in the world is the highest democratic
Reason R: God gives us the freedom to choose auspicious and inauspicious action

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. Ais not correct but R is correct

Options :

71087046325. 1

71087046326. 2

71087046327. 3



71087046328. 4

Question Number : 62 Question Id : 71087011640 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
i gl Y RU TN B - U & AU (4) 3R GO &I db (R) Hel T 6 :

HiYEHYA A: [ay T 3R gof yardize g
dd R: 3% B4 QY 3R <Y BHI &I g+ & Waadl odl o
SWdd dBYHl & aicid # Fgifed fddel & ¥ walfie 3uged 3o g -

1. A AR RGHI Tal & AR R, A DI Tl ARAT 5
2.ASRREHIYEI & U R, A DI Ul ARAT A8 5
3. AHEI U R HEI 6l B

4. A TR T8I g g R TE &

Options :

71087046325, 1

71087046326. 2

71087046327. 3

71087046328. 4

Question Number : 63 Question Id : 71087011641 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: According to Ramanuj, Meditation, Worship, and Knowledge are synonyms of
devotion.

Reason R: Meditation, Worship, and Knowledge were explained in every religion.
In light of the statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087046329. 1

71087046330. 2

71087046331. 3

71087046332. 4

Question Number : 63 Question Id : 71087011641 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I &l By RU TN B : Ud @l i@y (a) SR GHR &I dd (R) Pl T & -
HYDHYA (A) : THRS & YR GH, SUEAT 3R THITY Hidd & ggigard g
TP (R) : T, JUTHAT 3R T U@ o4 | aitia g |

IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -
1. (A) 3R (R) GFI F81 € 31R (R), (A) B Hgl ARA 5|

2. (A) 3R (R) GHIT el § TG (R), (A) BT Tl RSHAT g1 ¢

3.(A) TEI W (R) HEI 7Tel @

4. (A) HEI TEl ST (R) TR B |,

Options :

71087046329. 1

71087046330. 2

71087046331. 3
71087046332. 4

Question Number : 64 Question Id : 71087011642 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the three commentators of Bhagavadgita from the following
A Tilak

B. Kapil Muni

C. Shankaracharya

D. Kalidasa

E. Mahatma Gandhi

Choose the correct answer from the options given below

1. A B E
2ADC
3ACE
4. A ED
Options :
71087046333. 1
71087046334. 2
71087046335. 3
71087046336. 4

Question Number : 64 Question Id : 71087011642 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HIGAHIdl & o CIPIdRI ® UgdH -

A, faa®

B. ®iUd HH

C. A

D. PIfciar™

E. HRTAT e

=i g 7Y faeheal O Hel SR &1 9u o -

1. B9 A, B, E
2. BAAA, D, C
3. PadA, G E
4, HIAA,LE D
Options :

71087046333. 1
71087046334. 2
71087046335. 3
71087046336. 4

Question Number : 65 Question Id : 71087011643 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement |: Control on the activities of Mind (Chitta) is called 'yoga'
Statement II: Mimansa Philosophy does not believe that the world and all its objects are true

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087046337. 1

71087046338. 2

71087046339. 3

71087046340. 4

Question Number : 65 Question Id : 71087011643 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



R A PYTRTME -

®YA | : o @1 gfaal R TaH AT AR 6 -

HU 1| - HIFME G3F U8 3y 781 @l &1 98R &R 39 9+ uare 9 g
SWdd HyHl & 3Telie H Fdifed fadedl # ¥ Faiiye Suged 3w 94 -

1. @Y | 3R 1| GHf T8l 2l

2. YT | 3R 11 GFf T8l el 8l

3. &Y | 9 &, fdog &4 11 I8! el o
4. DY | GEI -Tel o, fod U 1 W8 B
Options :

71087046337. 1

71087046338. 2

71087046339. 3

71087046340. 4

Question Number : 66 Question Id : 71087011644 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements;
Statement I: These are the Vedanga -Siksa, Kalpa, Vyakarana, Nirukta, Chhanda, Jyotisa

Statement II: Sankhya philosophy explains that Sat -(substance) does not originate Sat-

(reality)

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087046341. 1

71087046342. 2

71087046343. 3

71087046344. 4

Question Number : 66 Question Id : 71087011644 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e &l By el T §

HUF | : T A6 § - R1af, Hed, avl, e, Bg, oyl

T |I: RGEH U8 RS DRl § & Uq ¥ I ®I Sdid el gl
Iuia BYHl o H1die H Fgifdd [dpedl H§ 4 ¥8l 3w g -

1. DY | 3R 1| GHI Fgl

2. @Y | 3R 11 GF Tad &

3. &Y | 9 &, flog &% 11 7Ted ©
4. DY | A B, T DY 1 T8 B
Options :

71087046341. 1

71087046342. 2

71087046343. 3

71087046344, 4

Question Number : 67 Question Id : 71087011645 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Read the following statements and

A. Vidyaya Vindteamrtam' - referred in the Kenopanisad

B. Aranyaka is also found in Atharvaveda

C. Life-history of kings of the Maurya dynasty is found in Visnupurana.
D. The Bhagavadgita is not a part of Bhisma-Parva of Mahabharata

E. Ishvarachandra Vidyasagar was the founder of Brahma Samaj
Choose the correct answer from the options given below

1. A and B only
2. A and D only
3. A and E only
4. A and C only
Options :
71087046345. 1
71087046346. 2
71087046347. 3
71087046348. 4

Question Number : 67 Question Id : 71087011645 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFafaiad duHl o ufey -

A. faerar fagdsgan -s-ufaug H &ifdd|

B. 30T Hi 3yde H U Sl B

C. fawqgRior I Hrider & Iesf & Siiaaid Ui g |
D. HATGTId] HETHRG @ HIHUG &1 HF 78 6|

. 61 9HIS o HRIUS 33ds [GaErR ¢

i< fau 7Y fasedl ¥ 9el STk &1 981 DY -

1.%ad AR E
2. @ad A 3R D
3. AT AARE
4. HAAA 3R C
Options :
71087046345, 1
71087046346. 2
71087046347. 3
71087046348, 4

Question Number : 68 Question Id : 71087011646 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Read the following statements

A. It is explained that the Nasadiyasdkta of Rgveda is philosophical sakta

B. The Agnipurana in Hindu Puranas is known as the encyclopedia of Indian culture
C. Soul and Brahma are not identical in Advaita Philosophy

D. When the mind is united with God, it is called Upasana

E. Nirguna Brahma is God without qualities

Choose the most appropriate answer from the options given below

1. A, Cand E only
2. A, Cand D only
3. A, B and D only
4. A Cand B only
Options :
71087046349. 1
71087046350. 2
71087046351. 3
71087046352. 4

Question Number : 68 Question Id : 71087011646 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFrafiRea oA @1 ufeu -

A. T Hel T § B Bide ®I ANCd Yad G gad o

3. forg QT & SRy yRGg U5pfa @1 fay@i= 9 ol g
C. 35d TR H 1A 3R 58 THeU T8l &

D. 5 H1 3% & 91Y o §ldl § ol 98 SUrEHl 8

. Fioser URRA SR E
U BYAl & D H Fifdd fadbed § § T8 3w I -

1. HadA, C3IR E
2. ®Had A, C 3R D
3. ®Ad A B3R D
4. HAAA, C 3R B
Options :
71087046349. 1
71087046350. 2
71087046351. 3
71087046352. 4

Question Number : 69 Question Id : 71087011647 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Read the following statements
A. It is said in the Bhagvatagita that the world is an illusion
B. Shankhya philosophy explains that Pratikriti has not originated in this world

C. According to the Vaisesika Darsana, seven elements (Padarthas) are not the main means of
Philosophy

D. The relationship of senses with objects is called Sanmkarsa
E. Sankaracharya believes that Brahma is the reality and the world is an illusion.
Choose the most appropriate answer from the options given below:

1. A and D only
2. D and E only
3. B and D only
4. Cand D only
Options :
71087046353. 1
71087046354. 2
71087046355. 3
71087046356. 4

Question Number : 69 Question Id : 71087011647 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFafifad sl ®f ufer 3R -

A MTagIA H @el § & TuR A g

B. H¥ed GRIF e &l § [ UPpid GUR &I Jd el g

C. 3R &2 & IR Id Uad (dw) G- & W IeH 6l 6|
D. 35 3R Uarl & W @ g Hed o

E. THIEN & TR S ¥ § 3R oI e g

Iuia BYHl o H1die H Fgifdd [dpedl H§ 4 ¥8l 3w g -

1. ®ad A 3R D

2.%ad D AR E

3. Had B 3R D
4, HIAC 3R D

Options :

71087046353. 1
71087046354. 2
71087046355. 3
71087046356. 4

Question Number : 70 Question Id : 71087011648 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l
A, SOrasagara I. Tulsidas
B. Ramcharita Manasa Il. Swamy Dayanand
C. Styarthaphakasha I1I. Patanjali
D. Yogasatra IV.Saradasa

Choose the correct answer from the options given below:

TA-LB-1N,C-IV,D-1
2ZA-IV,B-1,C-1I,D-1I
3A-ILB-IV,C-1IILD-I
4 A-ILB-1I,C-1,D-1IV
Options :

71087046357. 1
71087046358. 2
71087046359. 3
71087046360. 4

Question Number : 70 Question Id : 71087011648 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-] -l

A IR . qasierd

B. IHARaAFY . WH g
C. TTiETI IRGEIG

D. A V. Tard

d fgu e fasedl & wel 3w g :

TA-LB-1N,C-IV,D-1
2ZA-IV,B-1,C-1I,D-1I
3A-ILB-IV,C-1IILD-I
4 A-ILB-1I,C-1,D-1IV
Options :

71087046357. 1
71087046358. 2
71087046359. 3
71087046360. 4

Question Number : 71 Question Id : 71087011649 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

'Shri Sammeda Shikhara' is famous for:-

1. Ancient museum for palm leaf manuscripts
2. Salvation place of Lord Neminatha

3. Salvation place of 20 Jaina Tirthankaras

4. Worship place of the statue of Gommatesa
Options :

71087046361. 1

71087046362. 2

71087046363. 3



71087046364. 4

Question Number : 71 Question Id : 71087011649 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ot g fRRaT ufig &

1. A1 UA UIgfily &1 U= U8rd
2. ATy &1 Fafya

3. 20 oA drfei &1 Farea

4, TSR Ui 1 SRILAT |Id
Options :

71087046361. 1

71087046362. 2

71087046363. 3

71087046364. 4

Question Number : 72 Question Id : 71087011650 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

This theory is closely related to Jainism

1. Satkaryavada
2. Anekantavada
3. Brahmavada
4, Anatmavada
Options :
71087046365. 1
71087046366. 2
71087046367. 3
71087046368. 4



Question Number : 72 Question Id : 71087011650 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U Tagid o uH & wallus Fde &

1. G PrAaG
2. BTG
3. deldliq

4, AIHdIg
Options :
71087046365. 1
71087046366. 2
71087046367. 3
71087046368. 4

Question Number : 73 Question Id : 71087011651 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"Acarya Tulsi” belongs to this sect

1. Sthanakavast
2. Caityawasl

3. Taranatarana
4. Terapantha
Options :
71087046369. 1
71087046370. 2
71087046371. 3
71087046372. 4

Question Number : 73 Question Id : 71087011651 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



3ad g S WeE A R :

1. RG]l

2. Tgardt

3. dIRUTAUT

4, TRIUY
Options :
71087046369. 1
71087046370. 2
71087046371. 3
71087046372. 4

Question Number : 74 Question Id : 71087011652 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The language used in Jain Upanga Cancn, "Jivajivabhigama” happens to be

1. Niya Prakrit

2. Pali

3. Saurasent Prakrit

4. Ardhamagadhrt Prakrit
Options :

71087046373. 1
71087046374. 2
71087046375. 3
71087046376. 4

Question Number : 74 Question Id : 71087011652 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



oI JUITSRTH Ty Sidrelaiierm § Fgad HIE 3 :

1. oA
2. TIie

3. XIS "ihd
4. SFARTER Uidhd
Options :
71087046373. 1
71087046374, 2
71087046375. 3
71087046376. 4

Question Number : 75 Question Id : 71087011653 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

These are called four Aghati Karmas

1. Ayu, Nama, Gotra, Antaraya

2. Ayu, Nama, Antaraya, Vedaniya
3. Ayu, Nama, Mohaniya, Vedaniya
4, Ayu, Nama, Gotra, Vedaniya
Options :

71087046377. 1

71087046378. 2

71087046379. 3

71087046380. 4

Question Number : 75 Question Id : 71087011653 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



IR AN LG ;

1. 3G, T, 3Fa1g

2. 3T, T 3=, d6-1g
3. 31, M Hig=7, 351
4. TG, 9, T3 deAd
Options :

71087046377. 1
71087046378. 2
71087046379. 3
71087046380. 4

Question Number : 76 Question Id : 71087011654 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Matijfiana is divided into four kinds in Jainism as - Avagraha, Tha, Avaya
and Dharana

Reason R: Matijfidna is the cause of self-realization
In light of the statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087046381. 1

71087046382. 2



71087046383. 3
71087046384. 4

Question Number : 76 Question Id : 71087011654 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T HYHRUTE : 0P B AUHYT (A) IR GE DI dd (R) Bel ™ & -

HYDHYT A : OH 4H & HIIR HiceH 37 IR YoRi § [THIRSd © - HaUg , S8, Hdg HR YR

dd R : G5 AHTH YIEBR B SR 8|

IWdd ®HYHT & el J Fgiied fahedl § I yaiftde 3ugdd 3w 94 -
1. A AR RGHI Tel & AR R ,A DI U AT &

2. A 3R REH eI € W R A DI U5l ARAT Tl &

3. ATl € W= R Ul Tel 8l

4. A U8 981 € R R TEl g

Options :

71087046381. 1

71087046382 2

71087046383. 3
71087046384. 4

Question Number : 77 Question Id : 71087011655 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Jainism believes in salvation and the soul attains it

Reason R: The correct path for attaining salvation is the combination of Right View, Right
Knowledge, and Right Character

In light of the statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087046385. 1

71087046386. 2

71087046387. 3

71087046388. 4

Question Number : 77 Question Id : 71087011655 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i gl By RU TN B« U & AHEHYH (4) 3R GO &I db (R) Hel T 6 :
HTHGYT A 2 o T18 H 349 T § 3R ST 39 Ui #eal &

T R : T& U &3 31 Gel AN GiGRH, TRy 3R 990@ did @1 99d 8 |
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -
1. A AR RGA TRl € AR R, A DI Yol ARAT |

2. A 3R RGHI U8l g IXg R, A &I Tg! ARHAT 78] &

3. ATRI T R W1l &l

4. AR TR 8 WJR el &

Options :

71087046385. 1

71087046386. 2

71087046387. 3
71087046388. 4

Question Number : 78 Question Id : 71087011656 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement I: The soul is devoid of attachment and aversion in Jainism
Statement II: The World (Loka) and Soul (Atma) are created by the God

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087046389. 1

71087046390. 2

71087046391. 3

71087046392. 4

Question Number : 78 Question Id : 71087011656 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



EICKA SN A

HYUA |- O UH H I I AR gY 9 ¥fed Bldl §

Y |1 TR (@1D) SR AT 3% 5N giord g

Iudad HYHl & 3o H Fgiied el # ¥ 981 I g4 -

1. Y | 3R 1 gFf g8l Bl

2. YT | 3R 1| Tl 9al T8l

3. &Y | 98l g b &Y 11 981 el ol
4. DY | GEI -Tel o fdbg Dy 1 9! B
Options :

71087046389. 1

71087046390. 2

71087046391. 3

71087046392. 4

Question Number : 79 Question Id : 71087011657 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:
Statement |: The Indian rulers patronized the Jain Arts
Statement II: The construction of Dilwara Jain Temples in 12" CE.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is incorrect



Options :

71087046393. 1
71087046394. 2
71087046395. 3
71087046396. 4

Question Number : 79 Question Id : 71087011657 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T gl & U™ &

HYA |: R TS| H o Bl Bl U9 &3 |

®Y |1: IREd! Tl 3%l H Gaars] o JieRl &1 Hai gar|

SUad FYHl & ATl | Fifed @dedl | J Faifie Juged S 91 ;

1. @Y | 3R 1| gHf T8 €1

2. ®YA | 3R 1| G 91 T8l &l

3. %Y1 Gel & [ &Y 11 9l Jel 5
4. ®YF | GEI el & fdd y 11 98l Bl
Options :

71087046393. 1

71087046394. 2

71087046395. 3

71087046396. 4

Question Number : 80 Question Id : 71087011658 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order from the earliest
A. Acarya Haribhadra

B. Acarya Kundakunda

C. Acarya Hemacandra

D. Acarya Vattakera

E. Acarya Yasovijaya

Choose the correct answer from the options given below:

1.A CDBE
2B CADE
3.B.D.ACE
4. A, C B D,E
Options :

71087046397. 1
71087046398. 2
71087046399. 3
71087046400. 4

Question Number : 80 Question Id : 71087011658 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafiad & drasaaR gHgifed &Y (TRY T d6R)
A. 3T 11 v

B. A hada
C. R §HeEg

D. 3T gz
E. SfTa g=Ifaey
i feu TTu fasedl & 9 981 SR g -

1.A CDBE
2B CADE
3.B.D.ACE
4. A, C B D,E
Options :

71087046397. 1
71087046398. 2
71087046399. 3
71087046400. 4

Question Number : 81 Question Id : 71087011659 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



These are included in Avaéyaka duties of monks in Jainism:-
A. Svadhyaya

B. Samayika

C. Desavirati

D. Kayotsarga

E. Pratyakhyana

Choose the correct answer from the options given below:

1. A and C only

2. B, Cand D only
3.B, D and E only
4.C, D and E only
Options :
71087046401. 1
71087046402. 2
71087046403. 3
71087046404. 4

Question Number : 81 Question Id : 71087011659 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



oF o H 30T & HIGRD doedl H U FiHida § -
A.

B. AHIOD

C. GRIfaRfd

D. DT

. YR

i U e faeal # 9 98l SR 9 -

1. HaA A 3R C

2. ®HaAB,C3RD
3. ®aaB D IIRE
4.HaAC, D ARE
Options :
71087046401 1
71087046402. 2
71087046403. 3
71087046404. 4

Question Number : 82 Question Id : 71087011660 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are statements related to Acarya Haribhadra.

A. Chittorgarh was his birthplace

B. He belongs to the Digambar sect

C. His period was 8™century C.E

D. Udyotansuri is his pupil

E. Pramanamimansa text was written by him

Choose the most appropriate answer from the options given below:

1. A, B and C only
2. A, Cand D only
3.B, D and E only
4. B and E only
Options :
71087046405. 1
71087046406. 2
71087046407. 3
71087046408. 4

Question Number : 82 Question Id : 71087011660 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



frafifEd sy o eRvg © Sefia § -
A, RIiIETIe 3! o HRIE ol |

2. d feFaR TUed & ¥ |

C. 3] DId HISd Kl 3%al ol |

D. i GR 3-1cb =T 4 |

E. FRTUrHTHRT 3y 3 fad o |

i U e faeal # 9 98l SR 9 -
1.BaAAA, B3R C

2. AU A, CHRD

3. Hau B, D3RE
4, BB R E
Options :
71087046405. 1
71087046406. 2
71087046407. 3
71087046408. 4

Question Number : 83 Question Id : 71087011661 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Read the following statements, and find out the correct ones:
A. According to Jainism, ‘Ratribhojan-Viramana' vow is related to Ahimsanuvrata.
B. Jainism believes in assimilation in God

C. According to Sramana tradition, the last council of main Canons was held at Vallabhi in the

first century B.C.

D. Lord Mahavira obtained salvation at Pavapurr.

E. King Siddhartha was the father of Vardhamana.

Choose the most appropriate answer from the option given below:

1. A, B and C only
2. A, B and D only
3. A, B andE only
4. A, Dand E only
Options :
71087046409. 1
71087046410. 2
71087046411. 3
71087046412. 4

Question Number : 83 Question Id : 71087011661 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFafifad Hu @i Ue -

A. S SHITER R HIGH GRAT HEHT SHUEd | 9&fd 5

8. o YH 321 H UTHIPR 8l o IR Gy &dl & |

C. $HU TURT & 4R, S HFTH 1 i a1 deaH # gy et 391 9d H g3 A1
D. Ta HeTaR = grargdt & fator ure faoar

E. o7 g deeA & U U

FoffEd fea d A Td s -

1. HAAA, B 3R C
2. ®HAA A, B AR D
3. ®AdA BIARE
4. HAAA, DIARE

Options :

71087046409. 1
71087046410. 2
71087046411. 3
71087046412. 4

Question Number : 84 Question Id : 71087011662 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
A, Rsabhanatha . Kundgram
B. Mahavira Il. Varanasi
C. Parsvanath Il Kunda kaundapur
D. Kundakunda V. Ayodhya

Choose the correct answer from the options given below:

TA-NLB-IV,C-1I,D-1
2ZA-IV,B-1,C-1I,D-1I
3A-ILB-NLC-1V,D-I
4 A-ILB-IV,C-I,D-1
Options :

71087046413. 1
71087046414. 2
71087046415. 3
71087046416. 4

Question Number : 84 Question Id : 71087011662 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-l -1l

A, BEYATY . PUSTAH

B. HEIAIR 1. IR0

C. qrHTY lIl. PUS PSP
D. TP V. T

d fgu e fadedl  © wel IR g :

TA-NLB-IV,C-1I,D-1
2ZA-IV,B-1,C-1I,D-1I
3A-ILB-NLC-1V,D-I
4 A-ILB-IV,C-I,D-1
Options :

71087046413. 1
71087046414. 2
71087046415. 3
71087046416. 4

Question Number : 85 Question Id : 71087011663 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Identify the term that does NOT fit with the rest

1. Stupa

2. Pagoda

3. Dagoba

4. Sangha
Options :
71087046417. 1
71087046418. 2
71087046419. 3



71087046420. 4

Question Number : 85 Question Id : 71087011663 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

39 UG @I fd Sifog Sl 3 & 914 Td T8l & :

1. %4

2. Gl

3. STl
4,39

Options :
71087046417. 1
71087046418. 2
71087046419. 3
71087046420. 4

Question Number : 86 Question Id : 71087011664 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The foundation of liberation by living a right and moral life was known originally in Pali as

1. Pafifia

2. Samadhi

3. Sila

4. Appamada
Options :
71087046421. 1
71087046422. 2
71087046423. 3
71087046424. 4



Question Number : 86 Question Id : 71087011664 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TR SR A g - gR1 =& ©I Uil § Jered 9 el oflal o

1. Uaefl

2. TAIY

3. =i

4, AN
Options :
71087046421. 1
71087046422.2
71087046423. 3
71087046424. 4

Question Number : 87 Question Id : 71087011665 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The name of the Indian missionary who was said to be the founder of 'Chan’ or Zen Buddhism
is

1. Bodhidharma
2. Karmapa

3. Bodhidatta
4, Kalimara
Options :
71087046425. 1
71087046426. 2
71087046427. 3
71087046428. 4

Question Number : 87 Question Id : 71087011665 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

39 YR HEEE &1 919 9dsd 5l 99 oryar oF sl 41 & 9IS Sl ol 6

1. Sl

2. HHUl

3. difted

4, DICHRT
Options :
71087046425. 1
71087046426. 2
71087046427. 3
71087046428. 4

Question Number : 88 Question Id : 71087011666 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the ancient Indian kingdom which was the birthplace of Buddhism

1. Mogadha
2. Anga

3. Matsya

4. Gandhara
Options :
71087046429. 1
71087046430. 2
71087046431. 3
71087046432. 4

Question Number : 88 Question Id : 71087011666 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



39 U HRd G 3od &1 714 fEfd Sifog St dlg e o1 S o:

1. HITY

2. 37

3. g

4. YR
Options :
71087046429. 1
71087046430. 2
71087046431. 3
71087046432. 4

Question Number : 89 Question Id : 71087011667 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A book in Buddhism contains the prophecy that a person will be born in a snowy province and
will carry on the work of Buddha. Identify the name of the book:

1. Suvarnaprabhas satra

2. Manjusrinamsangiti

3. Saddharma pundarika satra
4, Aryamanjusrimilakalpa
Options :

71087046433. 1

71087046434. 2

71087046435. 3

71087046436. 4

Question Number : 89 Question Id : 71087011667 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



dlgyd 31 gEe fogH gg Higwari € f Ue ouiegd &1 o Shid Isd H BT SR a8 g5 &
DAl B SR GG J&id &l 4 fifed Sifa:

1. aul U™ 93

2. Ao AmEifa

3. OgH gUsii® g4
4. SHEGH Ja Hed
Options :
71087046433 1
71087046434, 2
71087046435. 3
71087046436. 4

Question Number : 90 Question Id : 71087011668 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements: one is labelled as Assertion A and the other is labelled as
Feason R

Assertion A: As per Dependent origination, the cessation of feeling will result in cessation of
attachment

Reason R: Grasping (upadana) is due to attachment.
In light of the statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087046437. 1

71087046438. 2



71087046439. 3
71087046440. 4

Question Number : 90 Question Id : 71087011668 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T HYHRUTE : 0P B AUHYT (A) IR GE DI dd (R) Bel ™ & -

HYDHYH (A) : Wil GG & 3HR de1 & FRIY T U1 & FRIY S g
dd (R) : SUIGH TN & BRI Bidl g
Sudad Byl & ciie H FRfeREd fasedl § 9 98l 3w g4 :

1. A R RGHI TSI € 3R R, A DI U5l ARAT ©

2. A R R &HI U] § Ui, R, A &1 UE! reAT I8l &
3. A ¥l § TN, R el el &

4. A g el € T R U3 &

Options :

71087046437. 1

71087046438. 2

71087046439. 3

71087046440, 4

Question Number : 91 Question Id : 71087011669 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following terms of Dependent Origination in ascending order
A. Bhava

B. Sadayatna

C. Birth

D. Sanskara

E. Trishna

Choose the correct answer from the options given below

1.D,B A CE
2D ABCE
3.D,B,EAC
4.D,C A B E
Options :
71087046441. 1
71087046442. 2
71087046443. 3
71087046444. 4

Question Number : 91 Question Id : 71087011669 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



IR W aeia FafdRed ual & SRigl %3 H garyd Sifu :
A M

8. TSTaaH

C. &

D. G5B

£, G
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1.D,B A CE
2DABCE
3.D,B,EAC
4.D,C A B E
Options :
71087046441. 1
71087046442. 2
71087046443. 3
71087046444. 4

Question Number : 92 Question Id : 71087011670 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement I: King Ashoka was instrumental in constructing eighty-four thousand stupas in the
country.

Statement II: There are four kinds of stupa found in Buddhist architecture.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087046445. 1

71087046446. 2

71087046447. 3

71087046448. 4

Question Number : 92 Question Id : 71087011670 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



EIEEARAIS AR
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3. By | Fel 5, fbg DY 11 Tel -TE1 B
4. DY | GE1 -Tol o, foq Y 11 T8l &
Options :

71087046445 1

71087046446, 2

71087046447, 3

71087046448. 4

Question Number : 93 Question Id : 71087011671 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement |: The Law of Dependent Origination states that action follows every reaction
(fruit); every cause has an effect.

Statement |I: Every effect has a cause and it is the Law of Karma.
In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

71087046449. 1

71087046450. 2

71087046451. 3

71087046452. 4

Question Number : 93 Question Id : 71087011671 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TR eE R T™E:
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1. DY | 3R 1| GHI Fgl
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3. By 1 9 g, fdoeg &Y 11 7Tdd B

4. DY 199 B, g Py 1 T8l &
Options :

71087046449. 1

71087046450. 2

71087046451. 3

71087046452. 4

Question Number : 94 Question Id : 71087011672 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the two major figures associated with the Madhyamika school of thought:
A. Shubhagupta

B. Asanga

C. Chandrakarti

D. Bhavaviveka

E. Dignaga

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. D and E only
Options :
71087046453. 1
71087046454. 2
71087046455. 3
71087046456. 4

Question Number : 94 Question Id : 71087011672 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



R ¥ meafte Giek § Yas o e sl @) fifed S
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B. 3THT

C. dgoidi

D. HTafdd®

e. fammT

i &2 T fa@edl 7 9 g8l O 9 ;

1. Had A 3R B
2. ®HaA BAR C
3. ®ad C 3R D
4. HaAD ARE
Options :
71087046453. 1
71087046454. 2
71087046455. 3
71087046456, 4

Question Number : 95 Question Id : 71087011673 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the scholars associated with Sautrantika School of Buddhist thought:
A. Vasumitra

B. Dharmatrata

C. Dignaga

D. Shubhagupta

E. Buddhadeb

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. D and E only
Options :
71087046457. 1
71087046458. 2
71087046459. 3
71087046460. 4

Question Number : 95 Question Id : 71087011673 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



digud GUR & gHifae Yue™ ¥ dag gl of fd s

A, GgFA
B. YHATd

c. fermm
D. JHW
E. §Gad

i<l fed 72 fashedl § 9 98l SR T

1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. HaAD ARE
Options :
71087046457. 1
71087046458. 2
71087046459. 3
71087046460 4

Question Number : 96 Question Id : 71087011674 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the Vaipulya sutras

A. Gandvyuha

B. Abhidharmakosabhasya

C. Saddharmapundrika

D. Milindaparifiho

E. Dasabhamisvara

Choose the correct answer from the options given below:

1. A, B, C only
2. A, D, Eonly
3. A B, Donly
4. A, C Eonly
Options :

71087046461. 1
71087046462. 2
71087046463. 3
71087046464. 4

Question Number : 96 Question Id : 71087011674 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



U gl ol fafgd Bifve

A TTSg

8. @RIy

C. GgHuS®

D. fafdigusset

E. GRIHAT

i feu TTu fasedl & 9 981 SR g -

1. B9 A, B, C
2. PadA, D, E
3. BAdA, B, D
4. HIAA, G E
Options :

71087046461. 1
71087046462. 2
71087046463. 3
71087046464 4

Question Number : 97 Question Id : 71087011675 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Yogacara is credited with the development of Buddhist logic as well as for major contribution
to logic and epistemology in South Asia. Identify two major figures associated with it:

A. Dharmapala

B. Dignaga

C. Dharmakirti

D. Bhavaviveka

E. Jianagarbha

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. D and E only
Options :
71087046465. 1
71087046466. 2
71087046467 3
71087046468. 4

Question Number : 97 Question Id : 71087011675 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. HaAD ARE
Options :
71087046465. 1
71087046466. 2
71087046467. 3
71087046468. 4

Question Number : 98 Question Id : 71087011676 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



hMatch List | with List 11

List | List 1l

A, Traditional term for Buddhist scriptures l. Cambodia
B. Buddhism is an official religion here Il. Samsara
C. The cycle of rebirth I, Tripitaka
D. Liberation from the cycle of rebirth V. Nirvana

Choose the correct answer from the option given below:

TA-LB-1,C-1L,D-1IV
ZA-ILB-1,C-1,D-1IV
3A-IV,B-I,C-1I,D-1
4 A-ILB-1,C-1ILD-1IV
Options :

71087046469. 1
71087046470. 2
71087046471. 3
71087046472. 4

Question Number : 98 Question Id : 71087011676 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

gl -| -l

A. T Tl & AT URUR® Weg EEUER
B. T8I Sl SHUBID 4 3 1. SOR
C. Qe &I 9 1. Biftes
D. e & g § Hfdd v, Faior
- feu 70 f9@eal & O U SR g :

TA-LB-1,C-1L,D-1IV
ZA-ILB-1,C-1,D-1IV
3A-IV,B-I,C-1I,D-1
4 A-ILB-1,C-1ILD-1IV
Options :

71087046469. 1
71087046470. 2
71087046471. 3
71087046472. 4

Question Number : 99 Question Id : 71087011677 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the personality who is considered to be 'The Apostle to the Gentiles'

1. St. Augustine
2. 5t. Peter

3. 5t. John

4. St. Paul
Options :
71087046473. 1
71087046474. 2



71087046475. 3
71087046476. 4

Question Number : 99 Question Id : 71087011677 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
I HAftidd &1 UgdH Dol o R-ggicdl & yHiaR® TS g :

1. Id ST
2. Hd dic?

3. O &

4, G urd
Options :
71087046473. 1
71087046474. 2
71087046475. 3
71087046476. 4

Question Number : 100 Question Id : 71087011678 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The ecumenical council, convened by Constantine, was held at Nicaea in the year

1.451. AD
2.433. AD
3.381.AD
4.325.AD
Options :
71087046477. 1
71087046478. 2
71087046479. 3
71087046480. 4



Question Number : 100 Question Id : 71087011678 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
DA (constantine) R 3Tgd Yduif® uRug FREan (nicea) T 39 au o gg o)

1. 451 3T

2. 433 SHdl
3.381 394!
4,325 3941
Options :
71087046477. 1
71087046478, 2
71087046479, 3
71087046480. 4

Question Number : 101 Question Id : 71087011679 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the branch of Calvinism

1. Catholicism

2. Orthodox

3. Lutheranism

4. Presbyterianism
Options :
71087046481. 1
71087046482. 2
71087046483. 3
71087046484. 4



Question Number : 101 Question Id : 71087011679 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Sica-1dIg $I IRAT 8 :

IEAINECIMCRINEES
2. TRUREmG (Hdifeed )

3. qUdiq E_jﬂ?ifla:l )

4. Yriggdig HyiEcieHe)
Options :

71087046481. 1
71087046482. 2
71087046483. 3
71087046484. 4

Question Number : 102 Question Id : 71087011680 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The 'Shema' prayer of great confession of faith is found initially in the book of

1. Psalms

2. Acts of Apostles
3. Revelation

4. Deuteronomy
Options :
71087046485. 1
71087046486. 2
71087046487. 3
71087046488. 4

Question Number : 102 Question Id : 71087011680 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



d &4 U Y451 & HgH WinRIGd & T W1 38 (b H 8

1. Yo
2. Uit & s
3. Je=igdred
4, oga&yT faaeu
Options :
71087046485. 1
71087046486. 2
71087046487. 3
71087046488. 4

Question Number : 103 Question Id : 71087011681 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Identify the first four prophets of the eighth-century B.C.E, who presented Jehovah in distinctly
moral terms

1. Abel, Noah, Abraham, and Isaac

2. Noah, Abraham, Isaac, and Jacob
3. Abraham, Isaac, Jacob, and Joshua
4, Amos, Hosea, |saiah, and Micah
Options :

71087046489. 1

71087046490. 2

71087046491. 3

71087046492. 4

Question Number : 103 Question Id : 71087011681 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



2., 313dl rdleal & 34 U¥H IR Rl ol Fafgd fofor forgiH fafiy Jfde ual # ggiar of
Dﬁﬁlﬁ:

1. 3(dd, 18, 3deH 3R 3UH
2. I8, 31616 H,391H 3R SDa
3. TTEH ITH, v d 3R SI=El

4. 34T BT, Ry 3R o
Options :

71087046489. 1

71087046490. 2

71087046491. 3

71087046492 4

Question Number : 104 Question Id : 71087011682 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: St. Thomas the apostle is considered to be that first apostle of Jesus Christ
in India.

Reason R: He was "doubting disciple” of the twelve apostles of Jesus Christ.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087046493. 1



71087046494. 2
71087046495. 3
71087046496. 4

Question Number : 104 Question Id : 71087011682 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

i &l Py 58 T §  UH @Y (A) B IR T@ (R) B

HIHDYHA (A) : WIS T UTHY DI HRA H SHHHIE B UYH U 541 S0 3
d® (R) : 98 SUMUTE dRed WA H < sy« 4

Iudad HYHl & 3eie H Fgifed [decdl § ¥ 98 I3 I -

1. A R RGH! T8l € 3R R, A I Tel ARAT &

2. A 3R REHI UEI € Ui R, A B Ug! o el &
3ATRIEHRG R W1l T

4. ATEI 8T T WIRTEI B

Options :

71087046493. 1

71087046494, 2

71087046495. 3

71087046496, 4

Question Number : 105 Question Id : 71087011683 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement |: Cyrus, the great Zoroastrian, who conquered Babylonia after fifty years and
restored the Jews their homeland.

Statement lI: Judaism is a classical example of revealed religion in which God himself has
given the entire body of religion to his ‘chosen people’

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087046497. 1

71087046498. 2

71087046499. 3

71087046500. 4

Question Number : 105 Question Id : 71087011683 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



- &l By RU TN B : U@ @l i@y (A) SR GHR &I dd (R) Pl T |

H@GY (A) : TI5EH, HeM ARINcdH, e+ Targ aul & 16 aaiai-a1 i [dod Uid &1 HR
ggfeat @i oo ArgyH @1 oy )

dd (R) : Igal U4 U Udhe 4H bl Udh S<c 3aleUl ¢ foraH Wd HITdH + 39+ g gu all &l
o UeH faar)

Suddd HYHl & Male H e d [deedl & I g1 SR g -

1. A AR RGHI Tal & AR R, A DI Ug! TS &

2. A IR REHI TSI & T R, A B! Tl IR Tol &
3. ATRI T R W1l &

4. ATEI TRl B IR Y B

Options :

71087046497. 1

71087046498, 2

71087046499, 3

71087046500. 4

Question Number : 106 Question Id : 71087011684 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement I: Moses Ben Maimon or Maimonides (1135-1204) is often called the second
Moses by the Jews

Statement II: Moses Ben Menahem Mendel or Moses Mendelssohn (1729-1786) is counted by
the Jews as Moses, the third or Moses, the Emancipator

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087046501. 1

71087046502. 2

71087046503. 3

71087046504. 4

Question Number : 106 Question Id : 71087011684 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



CIERAR HIC AT e

®YA | - Tga il gR1AYY o J99 34dl J41HGH (1135 -1204 ) DI HFR U1 HEY Dl widl
gl

@Y 11 - A9 faF Te Had sfyar AieT #5d Gl (1729 -1786) © Ggiadl gRI e Akg
41 3GR® HIUY dgl odl |

SJudad Byl & 3Mciie H Fgifd f[deeal 7 ¥ Faiite Suged IR 3+ -

1. @Y | 3R 1| GHf T8l 2l

2. @Y | AR 1| GF Fal T8l &l

3. &Y | 98l 5, fbq &Y 11 98l el ol
4. DY | GEI -Tel o, fod Dy 11 W8t B
Options :

71087046501. 1

71087046502. 2

71087046503. 3

71087046504. 4

Question Number : 107 Question Id : 71087011685 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the ecumenical councils in chronological order
A. Council at Ephesus

B. I*t Council of Constantinople

C. Council of Chalcedon

D. It Council of Nicea

E. II"® Council of Nicea

Choose the correct answer from the options given below:

1.A B CD,E
2B CDEA
3.D,B,ACE
4.C,D,EAB
Options :
71087046505. 1
71087046506. 2
71087046507. 3
71087046508. 4

Question Number : 107 Question Id : 71087011685 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



GraHH URuG! ! HICHHTIR Hadd HIfe:

A. Thgd @f UG

B. DedIg 4l I TYH URug

C. PiichaA o gRug

D. [AfEAr (Nicea)®! UyH Uftug
£, IREAT (Nicea) @1 fgdi uiug

i<l fGu U fasedl # € Hel 3w g

1.A B CD,E
2B CDEA
3.D,B,ACE
4.C,D,EAB
Options :
71087046505. 1
71087046506. 2
71087046507 3
71087046508. 4

Question Number : 108 Question Id : 71087011686 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the apostles of Jesus Christ who wrote gospels of the New Testament
A. St. Paul

B. S5t. Peter

C. St. John

D. St. Judas

E. St. Mathew

Choose the correct answer from the options given below:

1. A and B only
2. C and E only
3. D and E only
4. B and C only
Options :
71087046509. 1
71087046510. 2
71087046511. 3
71087046512 4

Question Number : 108 Question Id : 71087011686 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



201 7diE & ¥4 UaR®! &1 ugaH fbford forsiH A4 fauH (g ey s91 aRd & T ol:
A. e Ord
B. ¥ Uiex
C. ge @A

D. He =9
E. e Ay

i<l fGu U fasedl # € Hel 3w g

1. ASIR B Bad
2. C 3R £ Haqd
3. D 3R £ dad
4. B 3R C Haq
Options :
71087046509. 1
71087046510. 2
71087046511. 3
71087046512. 4

Question Number : 109 Question Id : 71087011687 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the Indian Saints

A. 5t Peter

B. St. Paul

C. St. Alphonsa

D. St Aquinas Thomas

E. St. Chavara Kuriakos Elias

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. D and E only
4. Cand E only
Options :
71087046513. 1
71087046514. 2
71087046515. 3
71087046516. 4

Question Number : 109 Question Id : 71087011687 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A He diex

B. ¥ Urd

c. g 3emig

D. ¥e Ufe-g 4oy

E. Ye a1 SRare ™ i

i<l fGu U fasedl # € el 3w g

1. A 3R B Had
2.8 3R c Had
3. D 3R Edad
4. C 3R £ had
Options :
71087046513. 1
71087046514. 2
71087046515. 3
71087046516. 4

Question Number : 110 Question Id : 71087011688 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the books of the Pentateuch (Torah) from the among these
A. Deuteronomy

B. Kings

C. Proverbs

D. Psalms

E. Exodus

Choose the correct answer from the options given below:

1. A and B only
2. A and E only
3.B and C only
4. Cand D only
Options :
71087046517. 1
71087046518. 2
71087046519. 3
71087046520. 4

Question Number : 110 Question Id : 71087011688 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



D. S+

ACRICE]
i feu T1u fasedl & ¥ Haifte Iuged 3w gHu:

1. Had A 3R B
2. HAAAARE
3. HaAAB AR C
4. &ad C AR D
Options :
71087046517. 1
71087046518. 2
71087046519. 3
71087046520. 4

Question Number : 111 Question Id : 71087011689 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the names of Angels of Christian faith

A. Ezekiel

B. Micheal

C. Gabriel

D. Daniel

E. Immanuel

Choose the correct answer from the options given below:

1. A and B Only
2. B and C Only
3. B and D Only
4. D and E Only
Options :
71087046521. 1
71087046522. 2
71087046523. 3
71087046524. 4

Question Number : 111 Question Id : 71087011689 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



SuTs o H Tagdl & A @1 UgdH HIfT -
A TolfiTEa

B. fRarsa
c. Tifega
D. Sfad

£ THUT
i feu e famedl ¥ ¥ Gaifte Iuged 3w g :

1. Had A 3R B
2.®ad B3R C
3.®ad BARD
4. Had DIRE
Options :
71087046521. 1
71087046522. 2
71087046523. 3
71087046524. 4

Question Number : 112 Question Id : 71087011690 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List |

List 1l

A. Reformation

l. 5t. Peter

B. Imitation of Christ Il. St. Augustine

C. Confession IIl. Thomas A Kempis

D. Apostle V. Martin Luther

Choose the correct answer from the options given below:

TA-IV,B-1,C-1I,D-1
ZA-1L,B-1L,C-11,D-1IV
3A-ILB-NLC-1V,D-I
4 A-ILB-IV,C-I,D-1
Options :

71087046525. 1
71087046526. 2
71087046527. 3
71087046528. 4

Question Number : 112 Question Id : 71087011690 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

gl -| -l

A. TR . e dier

5. 3O Hdlg B T@d I, . HE AR
. WimRifad 1. 4199 U Sy
D. YHUER . |1 TR

- feu 70 f9@eal & O U SR g :

TA-IV,B-1,C-1I,D-1
ZA-1L,B-1L,C-11,D-1IV
3A-ILB-NLC-1V,D-I
4 A-ILB-IV,C-I,D-1
Options :

71087046525. 1
71087046526. 2
71087046527. 3
71087046528. 4

Question Number : 113 Question Id : 71087011691 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In Pre-Islamic Arabia, the Basus war was fought between the tribes of

1. Banu Kinda and Banu Taghlib

2. Banu Quraish and Banu Hashim
3. Banu Bakr and Banu Taghlib

4. Banu Hashim and Banu Kinda
Options :

71087046529. 1

71087046530. 2

71087046531. 3



71087046532. 4

Question Number : 113 Question Id : 71087011691 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TSI Ud 2E § 999 &1 G 34 Dafdl & did ol Tl

1. 9 fdh=al 3R 5 qufes
2. S P 3R & BlRH
3. §] 9% 3R 9 JUfee
4, 9 SIRM 3R & faa1
Options :

71087046529. 1
71087046530. 2
71087046531. 3
71087046532. 4

Question Number : 114 Question Id : 71087011692 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Muslims of Mecca migrated for the first time to

1. Madina

2. Yemen

3. Uman

4, Habsha
Options :
71087046533. 1
71087046534. 2
71087046535. 3
71087046536. 4



Question Number : 114 Question Id : 71087011692 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Tdh] & AU 4 Ugdl aR [ e &I WA fddr o417

1. HG I
ERUEE]
3. 3HH

4. 5=l
Options :
71087046533. 1
71087046534. 2
71087046535. 3
71087046536. 4

Question Number : 115 Question Id : 71087011693 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Prophet Mohammad migrated to Madina in the year

1.622 A.D
2.620 AD
3.626 AD

4. 624 AD
Options :
71087046537. 1
71087046538. 2
71087046539. 3
71087046540. 4

Question Number : 115 Question Id : 71087011693 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



U AigHE [y ad & HEH1 7Y

1. 622 3541

2. 620 351
3.626 31

4. 624 351
Options :
71087046537. 1
71087046538, 2
71087046539, 3
71087046540. 4

Question Number : 116 Question Id : 71087011694 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Famous journals Al-Hilal and Al-Balagh were edited and published by

1. Mohsin-ul-Mulk
2. Chiragh Al

3. Amir Ali

4, Abul-Kalam Azad
Options :
71087046541. 1
71087046542. 2
71087046543. 3
71087046544. 4

Question Number : 116 Question Id : 71087011694 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



UG S 3d-Teard SR faaanT 9 & gR1 Sulfad 3R Wi fdear 4 ;

1. HIgRAd Jeb
2. e 3l

3. 3HR el

4. Jdc] dddH Sl
Options :
71087046541. 1
71087046542. 2
71087046543. 3
71087046544. 4

Question Number : 117 Question Id : 71087011695 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Raja Man Singh was appointed to the highest rank of a Mansabdar by

1. Babur

2. Shahjahan
3. Dara Shikoh
4, Akbar
Options :
71087046545. 1
71087046546. 2
71087046547. 3
71087046548. 4

Question Number : 117 Question Id : 71087011695 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



S 7 8 @ A-HacR &1 9die Ygdl U 3-d g1 Hgad fdean 7 o -

1. dle&

2. T

3. GRIX®E
4, Hdhdd
Options :
71087046545. 1
71087046546. 2
71087046547. 3
71087046548. 4

Question Number : 118 Question Id : 71087011696 Question Type : MCQ Option Shuffling : No Display Question Number
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The Kharijites formed the earliest religio-political sect in the history of Islam.
Reason R: The Qadirite was the first philosophical school in Islam.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087046549. 1

: Yes Is



71087046550. 2
71087046551. 3
71087046552. 4

Question Number : 118 Question Id : 71087011696 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
1< 3l Py RU U T : UF &l AU@YH (A) AR I &1 9 (R) Pel T & :
HYHYA (A) : T8I & faey § @iielsey = YA aiffie-Ie-iide duar &1 7184 [

a9 (R) : PIGEe S3aM &1 Ugdl qIEi-® Guad Ul
Iuad B! & el § [Rgifed fadedl § I Yaiite Sugead I 9 :

1. A R RGHITEI € 3R R, A P Ue| ARAT |

2. A R REHI TSI € IXd R, A BT eI AR T8l
3 ATEIE W R HEI 6l Bl

4, A HEI T8l T WIRFE B

Options :

71087046549. 1
71087046550. 2
71087046551. 3
71087046552. 4

Question Number : 119 Question Id : 71087011697 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement |: The Chishtis believe in the concept of "Unity of All Beings".
Statement |I: The Chishtis also strongly believed the musical audience.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087046553. 1

71087046554. 2

71087046555. 3

71087046556. 4

Question Number : 119 Question Id : 71087011697 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



EICKA SN A

®Y | T T8ad 3 goe B ATURUN H [ P § |
HY 11 el ity a1 H T srafie e @va U
SUYdd Sl & 3l H Fgifdd fddeul § 9 #8 SW -

1. Y | AR 11 GFT T8l Bl

2. @Y | 3R 1| GFf T8I T8l Bl

3. &Y | 9 & fdog &9 1| T8l gl B
4. DY | GEI -Tel o fdd Dy 11 T8l Bl
Options :

71087046553. 1

71087046554. 2

71087046555. 3

71087046556. 4

Question Number : 120 Question Id : 71087011698 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement |: The Abbasid Kingdom came to an end in the year 1258 A.D.

Statement |I: The official school of Islamic law during the Abbasid period was Shaffi School.
In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

71087046557. 1

71087046558. 2

71087046559. 3

71087046560. 4

Question Number : 120 Question Id : 71087011698 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

EICKAEDE N A

®Y | ; e Y BT 3fd 1258 351 H gl

HY || : e BIa H S A B BT 44 WMbs Toled o
IUded BYHT b el H Fiied fadedl § 4 T8 3w I -

1. ®Y | 3R 11 GHT 98l §

2. B | 3R 11 GHI g1 T8l

3. %Y1 9 & fhd &9 1| TEl 8l B
4. ®YF | GEI el & fdd Y 11 T8 Bl



Options :

71087046557. 1
71087046558. 2
71087046559. 3
71087046560. 4

Question Number : 121 Question Id : 71087011699 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the jurists chronologically

A. Ahmad ibn Hanbal

B. Abu Hanif

C. Malik ibn-Anas

D. Al-Shafi'i

Choose the correct answer from the options given below:

1.B,C,D A
2ACBD
3.D,C,B A
4B, C A D
Options :
71087046561. 1
71087046562. 2
71087046563. 3
71087046564. 4

Question Number : 121 Question Id : 71087011699 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafafad faftamdre @ SraaR wafyd Sifeu .

A. 3EHG 3¢ B9d

B. 3fe Gl

C. Hicid 3¢-3-9

D. 3{T-2MFs

i f&u 7Y fgoedl & @ 981 I gHU:

1.B, C D A
2A C B D
3D, C B A
4B, C A D
Options :

71087046561. 1
71087046562. 2
71087046563. 3
71087046564. 4

Question Number : 122 Question Id : 71087011700 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the caliphs chronologically

A, Al-Mansur

B. Al-Rashid

C. Al-5affah

D. Al-Mutawakil

Choose the correct answer from the options given below:

1.D,B A C
2.CB DA
3.A,B,CD

4. C, A B D
Options :
71087046565. 1
71087046566. 2
71087046567. 3
71087046568. 4

Question Number : 122 Question Id : 71087011700 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



GelBT B BIAHR oaaeyd i ;
AT -AFR

B. 31d -31RIG

C. 3(0-UHPE

D. 3] -Hddfwpd
i feu 7Y fasmedl # 9 981 IR T

1.D, B, A,
2.C, B, D,
3.A, B C
4.C, A B,
Options :

71087046565. 1
71087046566. 2
71087046567. 3
71087046568. 4

00 = M

Question Number : 123 Question Id : 71087011701 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Theory of Wajid and Shahad was propounded by

A. lbn Sina

B. Al- Ghazali

C. Shaykh Ahmed Sirhindi

D. Ibn al-Arabi

Choose the correct answer from the options given below:

1. A and D only
2.Cand D only
3.B and C only
4. A and C only
Options :
71087046569. 1
71087046570. 2
71087046571. 3
71087046572. 4

Question Number : 123 Question Id : 71087011701 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



qulg 3R Uge @I [Hgid 390 gRI Wiaunicd foar 7 ;
A. S A
B. 3cT -TTaATcil

C. T 3EHG Wil
D. 3¢ 3d-3Ral
2 feu T fowenl © € w8 Sw 9T

1. Bad A AR D
2. @ad C AR D
3. ®HaAAB AR C
4. HAAA 3R C
Options :
71087046569. 1
71087046570. 2
71087046571. 3
71087046572. 4

Question Number : 124 Question Id : 71087011702 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The theory of "Al-Sultan -o Zilullah Fil Arz' was propounded by during the times of
A. Seljugs

B. Nizam-ul Mulk Tust

C. Al-Farabi

D. Al-Kindi

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and C only
Options :
71087046573. 1
71087046574. 2
71087046575. 3
71087046576. 4

Question Number : 124 Question Id : 71087011702 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



371 -gera- 31 -forgiears fthet oft * R¥eia @1 UidureH oy & <ra- ®Iel H gaf o
A. TeoEd

B. [T Heob gt
C. 3cI-Hra]

D. 3(q-fdbcl
2 feu T fowenl © € w8 Sw 9T

1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. HAAA 3R C
Options :
71087046573 1
71087046574. 2
71087046575. 3
71087046576 4

Question Number : 125 Question Id : 71087011703 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Shiite Muslims who believe in five and seven Imams are known as
A, Zaydis

B. Babis

C. Ithna Asharis

D. Ismailis

Choose the correct answer from the options given below:

1. B and D Only
2. A and C only
3.B and C only
4. A and D only
Options :
71087046577. 1
71087046578. 2
71087046579. 3
71087046580. 4

Question Number : 125 Question Id : 71087011703 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Uid SR GId 3HM! H fay @3 ard R GaaaH! & fod 9 3 S-Sl g -
A SgG™

B. ST&d

C. SYAT HRRT

D. F¥ATS Tl
= fau e et & @ v Sw gfT:

1. Baa B 3R D
2. Had A AR C
3. ®HaAAB AR C
4. HAAA AR D

Options :

71087046577. 1
71087046578. 2
71087046579. 3
71087046580. 4

Question Number : 126 Question Id : 71087011704 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List I

A, Khair al-Majalis .. Malik ibn Anas

B. Kitab al-Muwatta Il. Mirghinani

C. Al-Hidaya IIl. Abdul Kalam Azad
D. India Wins Freedom IV. Hamid Qalandar

Choose the correct answer from the options given below:

T.A-LB-1,C-1V,D-1
ZA-ILB-IL,C-1,D-1IV
3A-IV,B-I,C-1I,D-1I
4 A-ILB-1,C-1V,D-1
Options :

71087046581. 1
71087046582. 2
71087046583. 3
71087046584. 4

Question Number : 126 Question Id : 71087011704 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

gl -| T -1

A, W SH-Helerd . Jicid 3¢ 9

B. fdbard 3rd-Haxn 1. HR AT

C. 3d-fge™ 1. g DA AHTSIG
D. 3fgTr fdg wiey V. BTG deial

d fgu e fasedl & wel 3w g :

TA-1LB-1I,C-1V,D-1l
ZA-ILB-ILC-1,D-1V
SA-IV,B-1LC-IL,D-1I
4 A-ILB-LC-IV, D-1I

Options :

71087046581. 1
71087046582. 2
71087046583. 3
71087046584. 4

Question Number : 127 Question Id : 71087011705 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Sikhism owes its origin to:

1. Synthesis of Hinduism and Islam

2. Sant tradition of Northern India

3. Creation of the Khalsa

4. Numinous experience of Guru Nanak
Options :

71087046585. 1



71087046586. 2
71087046587. 3
71087046588. 4

Question Number : 127 Question Id : 71087011705 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e #1 Jafd 1 UR &

1. TBg A4 3R SWIH &1 Y90
2. I HRd DI Hd T

3. T DI TYTYAT

4, T7% 9F® @ gad A4
Options :

71087046585. 1

71087046586. 2

71087046587. 3

71087046588. 4

Question Number : 128 Question Id : 71087011706 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who founded the Sikh institution of Guruship?

1. Guru Gobind Singh
2. Guru Arjan Dev

3. Guru Nanak

4. Guru Angad
Options :
71087046589. 1
71087046590. 2
71087046591. 3



71087046592. 4

Question Number : 128 Question Id : 71087011706 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TS YY1 B RIHT foog @l ot 7

1. 7% TMifaG 148
2. T% ST

3. 1% AH®

4. 7% 31q
Options :
71087046589. 1
71087046590. 2
71087046591. 3
71087046592. 4

Question Number : 129 Question Id : 71087011707 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘Sangat’ in Sikhism stands for:

1. Assembly of Priests

2. Group of workers

3. Contingent of warriors

4. Assembly of saintly persons
Options :

71087046593. 1

71087046594. 2

71087046595. 3

71087046596. 4



Question Number : 129 Question Id : 71087011707 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Ty dda dI Adae @ -

1. QETRGl D GHT

2. BADIIH BT IR
3. TIGT3Hl &1 Sl

4. Gd T&Y DI GHI
Options :
71087046593. 1
71087046594. 2
71087046595. 3
71087046596. 4

Question Number : 130 Question Id : 71087011708 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What do you mean by Miri-Piri in Sikhism?

1. Religion holds sway over politics.

2. Dichotomy between the temporal and the spiritual.
3. Religion has nothing to do with politics.

4. Balance between temporal and spiritual concerns.
Options :

71087046597. 1

71087046598. 2

71087046599. 3

71087046600. 4

Question Number : 130 Question Id : 71087011708 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
rayd 7 48018 9 @1 o g 2

1. Y IHIT H S B

2. AHTH SR FigRedl IR [z g1

3. 94 &1 oI O DI GeY ol o

4, AT AR RS WHRI H Tqa o
Options :

71087046597. 1

71087046598. 2

71087046599. 3

71087046600. 4

Question Number : 131 Question Id : 71087011709 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Sikhism does not subscribe to the segregation of society on the caste system.
Reason R: Sikhism believes in equality.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087046601. 1

71087046602. 2



71087046603. 3
71087046604. 4

Question Number : 131 Question Id : 71087011709 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TG Y RU T T : U ol HYDHYH (A) AR T &I dd (R) Bl T & :
HTHPYA (A): Torged F97< &1 F1fd & SM1YR W fGHIfed T8 Sl

dd (R): Fgyd gqHdr § faye odi e

SUddd BYHl & el H Fgifed fdeddl & 9 waifte 3uged g :

1. A AR RGHI Tel & AR R, A DI UgI AT &

2. A AR RGHI T8 & Tid R A DI Gel AR el &
3. A ¥Rl T I R el el &l

4 AGEI 8T TR TSI B

Options :

71087046601. 1

71087046602. 2

71087046603, 3

71087046604. 4

Question Number : 132 Question Id : 71087011710 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Guru Nanak established the first Sikh centre at Kartarpur which was known as
Dharamsal.

Reason R: This centre is now in Pakistan.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087046605. 1

71087046606. 2

71087046607. 3

71087046608. 4

Question Number : 132 Question Id : 71087011710 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I &l By RU TN B : Ud @l i@y (a) SR GHR &I dd (R) Pl T & -

HYDHYA (A) : TS - UyH (g GIH &1 ™G dalRyR | & o 91 4eare & =H 8 FF
ST Tl

TP (R) : 98 9 3@ Ui H 5|
Suddd HYHl & Male H e d [deedl & I g1 SR g -

1. A AR RGHI Tal & AR R, A DI Ug! TS &

2. A IR REHI TSI & T R, A B! Tl IR Tol &
3. ATRIT I R W1l &l

4 ATEITE BIRIE B

Options :

71087046605 1

71087046606. 2

71087046607. 3

71087046608. 4

Question Number : 133 Question Id : 71087011711 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement |: Sikh social order is based upon equality and brotherhood.
Statement lI: Sikhism does not subscribe to gender equality.

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

71087046609. 1

71087046610. 2

71087046611. 3

71087046612. 4

Question Number : 133 Question Id : 71087011711 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

EIERAGAIC A g F

FHY | i TN S0a=T YA 3R UEaR 1R TR &

®U 11: [ o &7 FH1dr &1 §5UH 981 Bl

U HYHI b el H i fddedl & I Falide Jugad 3w I :
1. BYF | 3R 11 TH F81 8

2. ®Y | 3R 1| BT el 8l g

3. %Y | 9 B, fohd &Y 1| TEl 8l B
4. ®YF | GEI el 6, fd @y 11 T8 g1




Options :

71087046609. 1
71087046610. 2
71087046611. 3
71087046612 4

Question Number : 134 Question Id : 71087011712 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement I: Sri Guru Granth Sahib is a raga oriented scripture.

Statement lI: Sikh liturgical compositions are also included in Sri Guru Granth Sahib.

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

71087046613. 1

71087046614. 2

71087046615.3

71087046616. 4

Question Number : 134 Question Id : 71087011712 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



EICKA SN A

©Y | : o T[S JY TIgd I SeTd eH du g

@Y 11: 1 T Uy Tifgd 7 fivg wifefde T« 2 g
Sugdd Syl B el H Fgifod fdepeal § 9 w8l IR I -

1. DY | 3R 1| GHI Fgl

2. @Y | 3R 11 GH T T8l Bl

3. By | 9 & ,fdog &Y% 11 7Ted ©
4. DY | A & g HYF 1 TEl B
Options :

71087046613 1

71087046614, 2

71087046615. 3

71087046616. 4

Question Number : 135 Question Id : 71087011713 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order from the earliest
A. Bhai Nand Lal

B. Bhai Mani Singh

C. Baba Budha

D. Bhai Santokh Singh

E.Bawa Sumer Singh

Choose the correct answer from the options given below:

1.C,A B D E
2B EDAC
3ABCED
4.D,C A B E
Options :

71087046617. 1
71087046618. 2
71087046619. 3
71087046620. 4

Question Number : 135 Question Id : 71087011713 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafifiad &l dIasHER afyd Sifl ;
A. HTg =g o

B. {13 Al g

C. §Tal gl

D. T3 €dra f&g

E. 9191 R i

i f&u ¢ famedl # 9 Wl I g :

1.C,A B D E
2B EDAC
3ABCED
4.D,C A B E
Options :
71087046617. 1
71087046618. 2
71087046619. 3
71087046620. 4

Question Number : 136 Question Id : 71087011714 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the contemporaries of Guru Arjan:

A. Sher Shah Suri

B. Emperor Akbar

C. Shaikh Ahmed Sirhindi

D. Bulle Shah

E. Bhagat Kabir

Choose the correct answer from the options given below:

1. A, B, C only
2.C, D, Eonly
3.B,C, D only
4. B and C only
Options :
71087046621. 1
71087046622. 2
71087046623. 3
71087046624. 4

Question Number : 136 Question Id : 71087011714 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TS & GBI B [afed B
A, TR AR TG

B. GIGXITE 3haR

C. TG 376HE Wl

D. gcciaIg

E. Had ek

i U e faeal # 9 98l SR 9 -

1. BAAA, B, C
2.®aAC, D, E
3. ®adB, C, D
4. HAAB 3R C
Options :
71087046621 1
71087046622. 2
71087046623. 3
71087046624. 4

Question Number : 137 Question Id : 71087011715 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following Sikh shrines are situated outside present-day Punjab?
A. Kiratpur Sahib

B. Khadur Sahib

C. Kartarpur (Ravi)

D. Nanak Mata

E. Dhamtan Sahib

Choose the correct answer from the options given below:

1.C, D, and E only
2. B, and C only

3. D, and E only

4. B, C, and E only
Options :
71087046625. 1
71087046626. 2
71087046627. 3
71087046628. 4

Question Number : 137 Question Id : 71087011715 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafafad # ¥ oH U Rrgud dwiF sy doe & de [RUd g -
A, DRAR iigd
5. W3 HIEd

C. BLARG R
D. Al HIdl

F. YA dlied
Fafafad fasedl | ¥ 98l o= 9T

1.HadC, D, E
2. ®HadB, C
3. ®aaD, E
4. HAAB, G, E

Options :

71087046625. 1
71087046626. 2
71087046627. 3
71087046628. 4

Question Number : 138 Question Id : 71087011716 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Sri Guru Granth Sahib does not comprise:

A. Bara Maha Tukhari

B. Gauri Bavan Akhri

C. Malkauns Ki Var

D. Sidh Gosti

E. Sahansarnama

Choose the most appropriate answer from the options given below:

1. C and E only
2. B and C only
3. D and E only
4. A and B only
Options :
71087046629. 1
71087046630. 2
71087046631. 3
71087046632. 4

Question Number : 138 Question Id : 71087011716 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



#1175 Uy Fifge § I 39 2MHT 81 & -
A. 91T A8 @RI
B. TSl S1a- 3G

C. HIe B 1 dR

D. g Ty

E. He oM

i f&u 7Y fgoedl & @ 981 I gHU:

1. %ad CE
2. ®HadB, C
3. ®aaD, E
4. HAAA, B
Options :
71087046629.
71087046630.
71087046631.
71087046632.

AW N =

Question Number : 139 Question Id : 71087011717 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Sikh intrinsic values are concerned with:

A. Entertainment

B. Polity

C. Spiritually

D. Materialism

E. Truthfulness

Choose the most appropriate answer from the options given below:

1. A and C only
2. D and E only
3.B and C only
4. Cand E only
Options :
71087046633. 1
71087046634. 2
71087046635. 3
71087046636. 4

Question Number : 139 Question Id : 71087011717 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Rg sfidit® geal &1 ddy 8 -

A, FARGH

B. Tl

C. SmeTfEddl

D. Uerdarg

E. F-ET

A feu 7T ooyl # € walive Suge S 9T -

1. BAAA,C
2. ®aaD, E
3. ®adB, C
4. HaAC E
Options :

71087046633
71087046634
71087046635.
71087046636.

AW N =

Question Number : 140 Question Id : 71087011718 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List |

List 1l

A. Giani Dit Singh

l. Gurmat Nirnay

B. Bhai Kahn Singh

Il. Prashar Prashna

C. Kapur Singh

ll. Durga Parbodh

D. Jodh Singh

V. Gurmat Martand

Choose the correct answer from the options given below:

TA-NLB-IV,C-1I,D-1
2ZA-1,B-N,C-1V,D-I
3A-LB-1IL,C-1I,D-1IV
4 A-IV,B-LC-lI,D-1
Options :

71087046637. 1
71087046638. 2
71087046639. 3
71087046640. 4

Question Number : 140 Question Id : 71087011718 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-NLB-IV,C-1I,D-1
2ZA-1,B-N,C-1V,D-I
3A-LB-1IL,C-1I,D-1IV
4 A-IV,B-LC-lI,D-1
Options :

71087046637. 1
71087046638. 2
71087046639. 3
71087046640. 4

Sub-Section Number : 2
Sub-Section Id : 710870355
Question Shuffling Allowed : Yes

Question Id : 71087011719 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the passage carefully and answer the questions that follow:

The way of spiritual practice is the way of spiritual development of the living being. Mahavira
said the karmic encumbrance hinders the spiritual progress of a living being. As a person
carries the load on his shoulders, so a living being carries a load of Karmas on his shoulders of
passions. When the mind, body, and speech act with passion like anger, pride, deceit and
greed, they incur Karmic influx and bondage in the same way as a boat with holes in its
bottom collects and accumulates water. As a person that exercises after massaging oil on his
body collect dust, so the passionate activities result in the influx and bondage of Karma.

When one acts with piety, one gains pious Karmic influx and bondage and when one acts with
impiety, one gathers impious or sinful Karmic influx and bondage. When the passions die out,
the Karmic influx and bondage stop just as when the holes of the boat are plugged. This is
called Samvara (stoppage). As a horse is controlled with its reins, so the scriptural studies,
meditation and other forms of penance result in the destruction of passion and consequent
Karmic stoppage and shedding. As the fire burns old wood, so the self-awareness destroys the
Karmic accumulation. This is called Karmic shedding or Karmic Nirjard. When the entire Karmic
encumbrance is fully shed, the soul experiences infinite bliss. This is called the soul's release or
liberation or independence.

Right vision is nothing but a firm faith in the existence of these nine fundamental verities and
consequent self-awakening.

Sub questions

Question Number : 141 Question Id : 71087011720 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The meaning of Samvara is:

1. Assisting in providing stability

2. Worshiping Jain idols

3. To stop the incoming Karmas

4. Gradually to be free of accumulated action (Karmas)
Options :

71087046641. 1

71087046642. 2

71087046643. 3

71087046644. 4

Question Number : 142 Question Id : 71087011721 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Definition of the Right Perception is:

1. Passions die out, the Karmic influx and bondage stop
2. Faith in the existence of fundamental

3. Pramananayairadhigamah

4. Tannisargadadhigamad Va

Options :

71087046645. 1

71087046646. 2

71087046647 3

71087046648. 4

Question Number : 143 Question Id : 71087011722 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Salvation in Jainism is:

1. The mind, body, and speech act with passion.

2. Conqueror of mental defilement only.

3. Spiritual awareness, meditation and other forms of penance for Karmic stoppage and
shedding.

4. Entire Karmic encumbrance is fully shed.

Options :

71087046649. 1

71087046650. 2

71087046651. 3

71087046652. 4

Question Number : 144 Question Id : 71087011723 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Kasaya is the cause of:

1. Samvara

2. Bandha

3. Nirjara

4, Moksa
Options :
71087046653. 1
71087046654. 2
71087046655. 3
71087046656. 4

Question Number : 145 Question Id : 71087011724 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



This term is included in the seven fundamental elements:

1. Niksepa

2. Sarhwara

3. Dharma

4, Kala
Options :
71087046657. 1
71087046658. 2
71087046659. 3
71087046660. 4

Question Id : 71087011719 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 71087011720 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fax D13 § -

1. U veH &3 § Uerd
2. OF wiqwredi &1 ger

3. @I & HFTHA &l A1

4, T SHT &1 HHI: & B
Options :

71087046641. 1

71087046642. 2

71087046643. 3

71087046644, 4



Question Number : 142 Question Id : 71087011721 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TEAGEH @ URYTHI § -

1. B & A 8H U TH & G 3R & B 3H -1
2. Ocdl &1 G U g1 BT

3. UHIUARIATH:

4, afaariefEmaE

Options :

71087046645. 1

71087046646. 2

71087046647, 3

71087046648, 4

Question Number : 143 Question Id : 71087011722 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

SHyH A HE S -

1. 94, 1 3R 994 &1 I gigd HH

2. ©ac] TAIGPRI & faetdn

3. AEFH ,&H 3R 30 TIYAREY 99 T $H &1 $d oHT 3R & 8]
4, GrqUT TfId SHT BT &/ gHT

Options :

71087046649. 1

71087046650. 2

71087046651. 3

71087046652. 4

Question Number : 144 Question Id : 71087011723 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
HYM FHDI PRUE -

1. 9d¥

2. a4

3. e

4. Hrg
Options :
71087046653. 1
71087046654. 2
71087046655. 3
71087046656. 4

Question Number : 145 Question Id : 71087011724 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
g Yt UId Jdl dcdl H Wi g -

1. &

2. 43

3. 4

4. dld
Options :
71087046657. 1
71087046658. 2
71087046659. 3
71087046660. 4

Sub-Section Number : 3
Sub-Section Id : 710870356
Question Shuffling Allowed : Yes

Question Id : 71087011725 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No
Question Numbers : (146 to 150)
Question Label : Comprehension

Read the passage carefully and answer the questions that follow:

The most fundamental question of the enigma of the Universe is - what is the Universe? The
famous scientist Fred Hoyle, giving a broad definition of the Universe, writes -"The universe is
everything, both living and inanimate things, both atoms and galaxies and if the spiritual exists
as well as the material, of spiritual things also and if there is Heaven and a Hell, of Heaven and
Hell too, for by its very nature the universe is the totality of all things". Thus, the word Universe
means a composition of all the entities whose existence we may experience through the media
of sense-organs (perception), reason (conception), or more directly by transcendental
knowledge.

Sub questions

Question Number : 146 Question Id : 71087011726 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Identify a proper heading of the passage

1. The Definition of Heaven

2. The Definition of The Universe
3. The Definition of Knowledge
4. The Definition of Religion
Options :

71087046661. 1

71087046662. 2

71087046663. 3

71087046664. 4



Question Number : 147 Question Id : 71087011727 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which two things exist in the universe mentioned in the passage?

1. Religion and faith

2. Men and women

3. Living and non-living objects
4. River and ocean

Options :

71087046665. 1

71087046666. 2

71087046667. 3

71087046668. 4

Question Number : 148 Question Id : 71087011728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who has described the Universe in this passage?

1. Writer of the book

2. Poet of the poetry

3. Editor of the magazine
4. Scientist Fred Hoyle
Options :

71087046669. 1
71087046670. 2
71087046671. 3
71087046672. 4

Question Number : 149 Question Id : 71087011729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The word "enigma’ in the passage means

1. Entities

2. Galaxies

3. Theory

4. Problem
Options :
71087046673. 1
71087046674. 2
71087046675. 3
71087046676. 4

Question Number : 150 Question Id : 71087011730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the more explicit way to know the Universe, as per the passage?

1. Sense- organs

2. Transcendental knowledge
3. Conception

4. Meditation

Options :

71087046677. 1

71087046678. 2

71087046679. 3

71087046680. 4

Question Id : 71087011725 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 71087011726 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Iudd iRl DT 3iad L ggdH -

1. ¥ I g
2. fay ot gfyumn
3. I @i gfyymr
4. 91 DT gfyrr
Options :
71087046661. 1
71087046662. 2
71087046663. 3
71087046664. 4

Question Number : 147 Question Id : 71087011727 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 45 R4S

2. T5Y 3R g

3. Foild SR Feila axqd
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Options :

71087046665. 1
71087046666. 2
71087046667. 3
71087046668. 4

Question Number : 148 Question Id : 71087011728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Y T H O d & qUiH SR Al B & ?

1. dh-ciad

2. ®iqdI ferg arel &id
3. U] @1 Huled

4. 39® s gud
Options :

71087046669. 1
71087046670. 2
71087046671. 3
71087046672. 4

Question Number : 149 Question Id : 71087011729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. dcd

2. SUs
3 R
4. HHH

Options :

71087046673. 1
71087046674. 2
71087046675. 3
71087046676. 4

Question Number : 150 Question Id : 71087011730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

eI & HTGR SRTd B o4+ &1 SUETHd Td& A7 1 & 7

1. gl

2. RATIFH

3. YR

4, 94
Options :
71087046677. 1
71087046678. 2
71087046679. 3
71087046680. 4



